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Question Id : 536228309 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (1 to 5)

Question Label : Comprehension

The table below embodies data on the number of candidates who appeared for an interview
(I) and got admission (A) in five engineering disciplines during the year 2014 to 2019. In

accordance with the table, answer the questions 1- 5

Mandatory

42
42

100
Yes

1

53622813

Yes

Year wise Number of Candidates in Different Engineering Disciplines
~Engineering | Chemical Civil Aerospace | Petroleum | Electrical
“"x@iscip_ﬁee

Yﬁar \\“'a I & | ¢ | & |31 |A|E|A XA

2014 11274 | 1090 | 2108 | 2068 | 1180 | 1140 [ 960 | 935 |1216 | 1194
2015 1165 | 1065 | 2050 | 1980 | 1260 | 1180 | 1004 | 985 | 1132 | 1120
2016 1108 | 1024 | 1860 | 1815 | 1132 | 1040 | 870 | 855 | 1260 | 1246
2017 1230 | 1180 | 1996 | 1948 | 1060 | 980 | 1094 | 1070 | 1191 | 1170
2018 1492 | 1372 | 2530 | 2500 | 1465 | 1425 | 1160 | 1040 | 1242 | 1222
2019 982 | 930 | 3488 | 3448 | 1640 | 1590 | 1020 | 1010 | 1362 | 1342

Sub questions

Question Number : 1 Question Id : 536228310 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0




What 15 the difference between the total number of candidates who appeared for an
Interview over the six years in Aerospace and Electrical Engineering disciplines?

(1) 334 (2) 61
(3) 66 (4) 344
Options :

5362281201. 1
5362281202. 2
5362281203. 3

5362281204. 4

Question Number : 2 Question Id : 536228311 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage increase/decrease In the number of candidates admitted in Civil
Engineering discipline from the year 2015 to 20167

() 9.09% (2) 843%
(3) 8.33% 4 919%
Options :

5362281205. 1
5362281206. 2
5362281207. 3

5362281208. 4

Question Number : 3 Question Id : 536228312 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the percentage of the total number of candidates admitted to the total number of
candidates interviewed for all the years in Chemical Engineering diseipline?

1) 81% (2) 91.68%
(3 88% (4) 91.86%
Options:

5362281209. 1

5362281210. 2



5362281211.3

5362281212. 4

Question Number : 4 Question Id : 536228313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 15 the average number of candidates who appeared for an interview in the year 2016
for admission to all the five engineering disciphnes?

() 1216 (2) 1314
(3) 1316 4) 1246
Options :

5362281213. 1
5362281214. 2
5362281215. 3

5362281216. 4

Question Number : 5 Question Id : 536228314 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ratio of number of candidates who appeared in an interview for admission to Petroleum
Engineering discipline in the year 2014 compared to the number of candidates who got
admission in Electrical Engineering discipline in the year 2015, 1s :

(1) 3:5 (@ 6:7
(3 T7:6 @) b5:3
Options :

5362281217.1
5362281218. 2
5362281219. 3

5362281220. 4

Question Id : 536228309 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (1 to 5)



Question Label : Comprehension

A & W e F a9 2014 7 2019 F A AN 0= A (@) 5 maen () F oo
A 7T 4 @ T R ( Mmﬁmanﬁmhwumﬁm$m T
(1-5) Tr"_rﬁ’rh'ﬂ

mﬂﬂmﬁm‘rﬁm‘ﬂ{ &) § ASIA ) i-an qe:

\ I A | I |A|T|A|lTI|A]|TI]|A
+
2014 1974 | 1090 | 2108 | 2068 | 1180 | 1140 | 960 | 935 |1216 | 1194
2015 1165 | 1065 | 2050 | 1980 | 1260 | 1180 | 1004 | 985 | 1132 | 1120
2016 1108 | 1024 | 1860 | 1815 | 1132 | 1040 | 870 | 855 | 1260 | 1246
2017 1230 | 1180 | 1996 | 1948 | 1060 | 980 | 1094 | 1070 | 1191 | 1170
2018 1492 | 1372 | 2530 | 2500 | 1465 | 1425 | 1160 | 1040 | 1242 | 1222
2019 982 | 930 | 3488|3448 | 1640 | 1500 | 1020 | 1010 | 1362 | 1342

Sub questions

Question Number : 1 Question Id : 536228310 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T% AN F S, TR AN Tl TR (A AR 7 39 5 A i Fe ae
% W A R

(1) 354 (2) 61
(3) 66 (4) 34
Options:

5362281201. 1
5362281202. 2
5362281203. 3
5362281204. 4

Question Number : 2 Question Id : 536228311 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ffa soitaten fama & afgen o7 = arefi i wen @ 98 2015 i 9o 99 2016 7 A

(1) 9.09% (2) 843%
3 833% 4 919%
Options :

5362281205. 1
5362281206. 2
5362281207. 3

5362281208. 4

Question Number : 3 Question Id : 536228312 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e St f 3 wf o % A w7y e g St A g T g A =
A F A G T AT A i Fe Fe F e e

() 81% (2) 91.68%
(3) 8.8% (4) 91.86%
Options :

5362281209. 1
5362281210. 2
5362281211.3

5362281212. 4

Question Number : 4 Question Id : 536228313 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 2016 7 FETHE F T T T A W g waren § fou i 5 aeE A e e

EGEIEE

() 1216 (2) 1314
(3) 1316 (4) 1246

Options:



5362281213. 1
5362281214. 2
5362281215. 3

5362281216. 4

Question Number : 5 Question Id : 536228314 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 2014 # TR THCAIT 9 A G 7 MATER F 0 A 79 AW A9 # 5
i 20157 selffzae SaitEten fawm @ gfger o A et 1 gen & f w0 s 27

I 3:5 (2)
3 7:6 (4)

o [=x]
Lo =]

Options :

5362281217.1

5362281218. 2

5362281219. 3

5362281220. 4

Sub-Section Number : 2
Sub-Section Id : 53622814

Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228315 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following have been 1dentified as key behaviours contributing to effective
teaching?

(A)  Lesson clarity

(B)  Instructional variety

]

(C)  Using student 1deas and contribution
(D)  Engagement in learning process
(E)  Structuring

Choose the correct answer from the options given below :

(1)  (A). (B) and (D) only (2) (A), (B) and (C) only
(3) (B), (C) and (D) only (4) (C), (D) and (E) only
Options :

5362281221. 1
5362281222. 2
5362281223.3

5362281224. 4

Question Number : 6 Question Id : 536228315 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et ey § weAm #E % o Fefefiaa @ P5F oam sEEn % v A geEmE T R
(A) W3 TEa
(B)  FEEIEF T
(D) AT AT § el
(E) ==
T o1 ™ faet d @ @ = g
() #= (A), (B) 3 (D) @ F= (A), (B) 3 (O)
3 T (). (C) 3 (D) ) ¥ (0), (D) R (B)
Options :
5362281221. 1
5362281222. 2
5362281223. 3

5362281224. 4



Question Number : 7 Question Id : 536228316 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following, the direction of influence 1s mainly one way :

(1) Counselling (2) Guding
(3 Teaching (4) Learning
Options :

5362281225. 1
5362281226. 2
5362281227.3

5362281228. 4

Question Number : 7 Question Id : 536228316 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feferiaa % & 70 3w i T wmm: o T At 27

(1) w9 = (2) HFIEIE UEE FET
(3) e (4) s
Options :

5362281225. 1
5362281226. 2
5362281227.3

5362281228. 4

Question Number : 8 Question Id : 536228317 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The communication process 1 active and interactive at a very high level in which of the
following level of teaching?

(1) Reflective level (2)  Understanding level
(3)  Memory level (4) Autonomous development level
Options :

5362281229. 1
5362281230. 2
5362281231. 3

5362281232. 4

Question Number : 8 Question Id : 536228317 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foreqm % FIAferfiaa F9 ° T IO UG A 39 T W A0 U9 ST Al 2

(1) = = Q) wEEg T
(3) == (4) waT faFE =
Options :

5362281229. 1
5362281230. 2
5362281231. 3

5362281232. 4

Question Number : 9 Question Id : 536228318 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements :

Statement I:  In order to be effective, teaching and testing must go together.

Statement II: Feedback does not form an essential component of formative assessment.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(I)  Both Statement I and Statement II are correct

(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement II 1s incorrect
(4)  Statement I1s incorrect but Statement II 1= correct

Options :

5362281233. 1
5362281234.2
5362281235.3
5362281236. 4

Question Number : 9 Question Id : 536228318 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo (I) :  TuEl BH o e e va wdieor 21 s -any we =ie |

e (IT) :  afdufe FHAIeRs gear- =1 AEvas 92 Tai s |
S0 FUAT F AATE § iR fawedt o @ waffas 39999 3 94
(1) =% I3 L2 |58 7 |
2 w3 IS 58 78 2 |
(3)  wu 157l & g ®o Il &1 771 7 |
(4)  F 198 6 # g FoF I HA 7 |

Options :

5362281233. 1

5362281234 2

5362281235. 3

5362281236. 4

Question Number : 10 Question Id : 536228319 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following ‘need strengths’ in Maslow's hierarchy are related to higher order
learning?

(A)  Physiological needs

(B)  Safety needs

(C)  Social needs

(D)  Esteem needs

(E)  Needs for self actualization

Choose the correct answer from the options given below :

(1) (A)and (B) only (2) (B) and (C) only
(3)  (C)and (D) only (4) (D) and (E) only
Options:

5362281237. 1
5362281238. 2
5362281239. 3

5362281240. 4

Question Number : 10 Question Id : 536228319 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U F ATEA | HEenad FE 9 AETIEG o9 Teae A § geid 7 7

(A) TR TFATEF AEvIHa
(B) = i AETIEAT,

(C) AT ATETTFam
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e T3 ™ faeqt 7 @ TE I 9

(1) = (A) 3 (B) (2) a4 (B) 3 (C)
(3) == (C) 3% (D) (4) == (D) 3 (E)
Options :

5362281237. 1
5362281238. 2

5362281239. 3



5362281240. 4

Question Number : 11 Question Id : 536228320 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

List I mentions various methods of research while List II offers their description.
Match List I with Last IT :

LastI Last II

(A) Experimental method (I A detaled description of the way
people believe and act 1n a particular
soclety.

(B) Ex-post facto method (I) Studies designed to obtain information
concerming the current status of
phenomena

(C) Descriptive survey method (IIT) Studying the effect of mampulating

independent variable on dependent
variable under appropriate control
1mposed.

(D) Ethnographic method (IV) Conducting a probe into causal factors
on the basis of evidences mamfest now

Choose the correct answer from the options given below :

10 @-0. B)-). ©)-aI). J(IV)
@ (A-IV), (B, (O)-ID), D

@) (@)-1. ®)-. ©)-aV). [D)- (HD
(4 (A-I). B)-aV), (©)-@). @)-1)

Options:

5362281241.1
5362281242.2
5362281243.3

5362281244. 4

Question Number : 11 Question Id : 536228320 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1) @-1). B)-1), (C)-{III), (D)-IV)
2 (A-1IV). B)-aID). (C)-aD). (D)-O
(3 A-ID, B)-D), (C-IV). (D)D)
@ (@A), BIV). (O)-@). D)-1D)

—

)
)

Options :

5362281241. 1
5362281242. 2
5362281243. 3

5362281244. 4

Question Number : 12 Question Id : 536228321 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following features best describe an independent variable in research?

(A) It 1s the cause in the cause-effect relationship.

(B) It 1s the effect in the cause-effect relationship.

(C) It s the condition or characteristic which 15 manipulated in an experimental study.
(D) It 1s the variable which 1s placed under control.

(E)  Itis a kind of response variable.

Choose the correct answer from the options given below :

(1) (A)and (B) only (2) (B)and (C) only
(3)  (A)and (C) only (4) (D) and (E) only
Options :

5362281245. 1
5362281246. 2
5362281247.3

5362281248. 4

Question Number : 12 Question Id : 536228321 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefefiad 3 @ F9 9 fEa e 8§ e T F ST 9 e A

(A) T FRU-FE TEY ° B |
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Options :

5362281245. 1
5362281246. 2
5362281247.3

5362281248. 4

Question Number : 13 Question Id : 536228322 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



When a particular ‘statistics’ In a research situation 1s evidently declared to be sigmficant.

which of the following decisions will be considered tenable”
(A)  Null hypothesis 1s rejected

(B)  Alternative hypothesis 1s accepted

(C)  Null hypothesis 1s accepted

(D)  Alternative hypothesis 1s rejected

(E)  Null hypothesis along with the alternate hypothesis are accepted.

Choose the correct answer from the options given below :

(1)  (B)and (C) only (2) (C)and (D) only
(3) (D) and (E) only (4) (A) and (B) only
Options:

5362281249. 1
5362281250. 2
5362281251. 3
5362281252. 4

Question Number : 13 Question Id : 536228322 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F My TRt § 79 R ffe w1 ered: miE 9t G A 2, @ FertEd § 8 w6

(&) I i S A
B)  Fee TR R A A
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() I WIHEl % WG~ SR TR o R o

(1) & (B) % (C) (9 ¥4 (C) @ (D)
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Options :

5362281249. 1
5362281250. 2
5362281251. 3
5362281252. 4

Question Number : 14 Question Id : 536228323 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(ven below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (4): Data must be authentic before 1t can be of any value in a historical
research, yet proof of authenticity does not establish’ its value, 1t must also

be accurate.

Reason (R) : External criticism 1g, therefore, referred to as lower criticism of the data.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)  Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2)  Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3)  (A)1s correct but (R) 1s not correct

(4)  (A)1s not correct but (R) 1s correct

Options :

5362281253. 1
5362281254. 2
5362281255. 3

5362281256. 4

Question Number : 14 Question Id : 536228323 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362281253. 1
5362281254. 2
5362281255. 3

5362281256. 4

Question Number : 15 Question Id : 536228324 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chance or accidental errors in research will cause obtained results to depart

from the true value as often in one direction or in another.

Statement IT: Systematic error causes obtained results in research to vary in a particular
direction and 1s far more likely to catch the researcher by surprise than is

chance error.

In the hight of the ahove statements, choose the most appropriate from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s incorrect but Statement II is correct

Options :

5362281257. 1
5362281258. 2
5362281259. 3

5362281260. 4

Question Number : 15 Question Id : 536228324 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362281257. 1
5362281258. 2
5362281259. 3

5362281260. 4

Question Number : 16 Question Id : 536228325 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Cognitive dissonance 1n classroom communication is the result of

(1) Filtering of message (2) Student interest
(3) Student-based interaction (4) Chaotic conditions
Options :

5362281261. 1
5362281262. 2



5362281263. 3

5362281264. 4

Question Number : 16 Question Id : 536228325 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FH] TG § TAFTCHS [T =6 90y F |

(1) =0 & fee (feeefon) Fom @) et i =
@) famnid st s (@) st v
Options :

5362281261. 1
5362281262. 2
5362281263. 3

5362281264. 4

Question Number : 17 Question Id : 536228326 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following can be the major communication barriers to online teaching?
(A)  Technology

(B)  Legalities

(C)  Student community

(D)  Culture

(E)  Gender

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (A). (D). (E) only
(3)  (B). (C). (D) only 4) (C), (D), (E) only

Options :



5362281265. 1
5362281266. 2
5362281267. 3

5362281268. 4

Question Number : 17 Question Id : 536228326 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT T T = Feferiad #i9 @ TgE s sy 87
(A) T

(B) AT

(C) 39H#EA

(D) =Fm
(E) T

Hr o2 ™ faedi § @ =F 3 R

(1) F (A). (B) ¥ (C) @ F= (A), (D) 3 (E)
(3) %= (B). (C) ¥t (D) @ ¥ (). (D) 3R @)
Options :

5362281265. 1
5362281266. 2
5362281267. 3

5362281268. 4

Question Number : 18 Question Id : 536228327 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(G1ven below are two statements

Statement [ : Aggressijre and inﬂammatory statements by the teacher make the classroom
communication academically effective.

Statement IT : Cholce of appropriate words lends credence to classroom communication
processes.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement IT are true

(2)  Both Statement I and Statement IT are falze

(3)  Statement I1s correct but Statement II 1s false

(4)  Statement I1s incorrect but Statement I is true

Options :

5362281269. 1
5362281270. 2
5362281271. 3

5362281272. 4

Question Number : 18 Question Id : 536228327 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
T (I): AT Z0 20 0 ATH T WEHS ST FA 4 T F N0 E F 06 5

For (1) ;37 T 1 599 F40 H W W F EvE A

ITIT FA F AF A A e A I
() FRIMIFATEE

@) FF 13 L2H 7o # |

(3)  FF 172 g TR [0 2|

(@) FF e & g T E 2

Options :

5362281269. 1
5362281270. 2
5362281271. 3

5362281272. 4



Question Number : 19 Question Id : 536228328 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of the media production process.
(A) Content Preparation

(B) Planning

(C) Production

(D) Transmission

(E) Feedback analysis

Choosze the correct answer from the options given below :

(1) (A). (B). (C), (D). (E) (2) (B). (C), (D). (A). (E)
(3) (D) (C). (B). (E). (A) 4 (B). (A). (C). (D). (E)
Options :

5362281273. 1
5362281274. 2
5362281275. 3

5362281276. 4

Question Number : 19 Question Id : 536228328 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

thg"-l _.--. =l ji}l"—i _-:Fr I‘T;E =H _-'E[ Jad :{T E.E '].:

(A) 9= T Fi 3w

(B) ATAAT
(C) wdfd (urs#em)
(D) T

= T ™ faweT 3 9 wE I 96

(1) (A). (B). (C). (D). (E) (2)  (B). (C), (D). (A). (E)
(3) (D). (C). (B). (E). (&) (4) (B). (A). (C). (D). (E)
Options :

5362281273. 1
5362281274. 2

5362281275. 3



5362281276. 4

Question Number : 20 Question Id : 536228329 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I wath Last IT
ListI List IT
(Examples of Commumnication) (Types of Communication)
(A) Sending e-mail ()  Semiotics
(B) Verbal instruction (II) Transactional

(C) Exchange of information between two (III) Formal

groups of people
(D) Traffic signals (IV) Informal

Choose the correct answer from the options given below :

(1) (A)-IID). B)-IV). (O)-aD. D)-D
2 (A)-1D), B)-I), (C)-1). (D)-IV)
(3)  (A)-D. B)-D. (C)-AV), (D)-(IIT)
4)  (A)-IV), (B)-D. (C)-). (D)-ID)

Options :

5362281277.1
5362281278. 2
5362281279. 3

5362281280. 4

Question Number : 20 Question Id : 536228329 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1.1 % G111 5 e it -

kLR LB
(w327 (g % YT
&) - O T o T
®) i @) wow

© =t % @ @@ F fw g @ Q) s

HAREA-TEA
(D) T T @IV) =T
= 7 T A B o7 e g

1) A, B)-IV), (C)-D, D)-@)
2 @I, B)-ID), (C)-@), M)-IV)
3 A-D. B)-ID, (C-IV). (D))
@ @)-IV). B)-@. (C)-ID). (D)-ID)

Options :

5362281277. 1
5362281278. 2
5362281279.3
5362281280. 4

Question Number : 21 Question Id : 536228330 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The average of 70 numbers 1s 32. If each number 1s increased by 3. then the new average will

become
() 31 (2) 33
(3 35 4) 37
Options :

5362281281. 1



5362281282. 2
5362281283. 3

5362281284. 4

Question Number : 21 Question Id : 536228330 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

70 TR 1 #EE 32 2 | A3 To4F TS 3 T 921 4 Al & 97 78 #E T8 B

(1) 31 (2) 33
(3) 39 (4) 37
Options :

5362281281. 1
5362281282. 2
5362281283. 3

5362281284. 4

Question Number : 22 Question Id : 536228331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A person In a car drives along a straight road from pomnt A to point B at a speed of
60 km/hour for 15 minutes and then from point B to point C at a speed of 90 km/hour for

10 minutes. The average speed of his travel from point A to C 18

() 75 km/hr (2) 72 km/hr
(3) 68km/r (4) 78 km/hr
Options :

5362281285. 1
5362281286. 2
5362281287. 3
5362281288. 4



Question Number : 22 Question Id : 536228331 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T ST WA 79F W s A fag B A% 15 T F o 60 A 9 92 A1 7 3 FR 76 2 6w
7% T, 10 fre F fom T B ¥ T C 7 90 A1, 7 =21 i i @ F7 wwm 2| fag A ¥

(1)  75TRH. ufd g (2) 72 R, fd g
(3) 68 A, 7 7@ (4) 78T I T
Options :

5362281285. 1
5362281286. 2
5362281287. 3
5362281288. 4

Question Number : 23 Question Id : 536228332 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
A student scores 55. 60, 65 and 70 respectively in English. Physics, Chemistry and

Mathematics. If the credits assigned to Enghsh, Physics, Chemistry and Mathematics are

2. 3. 3 and 4 respectively then what would be the average mark of the student?

(1)  62.50 (2) 63.75
(3) 64.25 (4) 64.75
Options :

5362281289. 1
5362281290. 2
5362281291. 3

5362281292. 4

Question Number : 23 Question Id : 536228332 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

e Tl S, Wifadhl, WrEAEEE a9 TE § FE: 55, 60, 65 41 70 WF WH F £ | 7 e,

Wil T Ta5 9 0 1 49 F: 2, 3, 39 43 T fa=nefl % wAa o wm am

() 62.50 (2) 63.75
(3) 6425 (4) 64.75
Options :

5362281289. 1
5362281290. 2
5362281291. 3

5362281292. 4

Question Number : 24 Question Id : 536228333 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A clock takes 5 seconds to strike 5 times at 5 O'clock. How long will 1t take to strike 9 times
at 9 O'clock?

(1) 9 szeconds (2) 10 seconds
(3) 12 seconds (4) 8 seconds
Options :

5362281293. 1
5362281294. 2
5362281295. 3

5362281296. 4

Question Number : 24 Question Id : 536228333 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



58 5 I 9 ¥ 0 UF UL b HHSH T H T £ | 36 O 9% O 9 a9 4 Fho GHg e

(1) 9%F=H () 10 @FsH
3 12%%=m 4) 8FeH
Options :

5362281293. 1
5362281294. 2
5362281295. 3

5362281296. 4

Question Number : 25 Question Id : 536228334 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A shopkeeper sells an 1tem at a discount of 40% on the 1tem’s listed price of Rs. 1500.00. He
still makes a profit of 20% on the original cost of the item. What 1s the original cost of the
1tem?

()  Rs.500 (2) Rs. 750
(3) Rs.600 (4) Rs. 1080
Options:

5362281297. 1
5362281298. 2
5362281299. 3
5362281300. 4

Question Number : 25 Question Id : 536228334 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
T gRFER 1500.00 F Sl 39 T 40 iow i g2 F WY g i foh F 2| 9 F W 0 W

Tz i i 20 Yo 1 A9 I A 2 | T WG T A

(1)  Rs.500 (2 Rs. 750
(3)  Rs. 600 (4) Rs.1080



Options :

5362281297. 1
5362281298. 2
5362281299. 3
5362281300. 4

Question Number : 26 Question Id : 536228335 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In terms of Indian logic, “This hill has smoke which 1s invariably associated with fire”, 1s
called :

(1) Pratigya or proposition
(2)  Universal concomitance together with an example
(3)  Upanaya - the application of the universal concomitanee to the present case

(4)  Conclusion or Nigamana drawn from the preceding proposition

Options :

5362281301. 1
5362281302. 2
5362281303. 3

5362281304. 4

Question Number : 26 Question Id : 536228335 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
qRA e % ged 1, 56 e d el & | iEd =1 W Av E e, H wE A a

(1)  TfaT w1 viasr

(3) 3T - 9EWH WS | HEEE geat

(4) et yfow ¥ e s e e

Options :



5362281301. 1
5362281302. 2
5362281303. 3

5362281304. 4

Question Number : 27 Question Id : 536228336 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Identify the features of Aristotelian syllogism from the following :

(A) It 1= deductive — inductive and formal material

(B) It 1= only deductive and formal

(C)  The major and minor terms stand apart in the premises
(D) It 1s verbalistic

(E) Verbal form 1z not the essence of inference

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (A). (C) and (E) only
(3) (B). (C) and (D) only (4) (A). (D) and (E) only
Options :

5362281305. 1
5362281306. 2
5362281307. 3
5362281308. 4

Question Number : 27 Question Id : 536228336 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fefetEs 3 9 g F =EaeE i e i e e
(A) TR FEATE - STEATF 1 ST T 2

(B)  TF Hhad FTHAHF 3 AHNE 261 F |

(C) iy = Wi 1 U8 U2 377 A 7id 7 |

D) TEAMEwEE R

(E) @t &9 sHid =1 91 T8 a2 |

(1) === (A). (B) 3 (C) (2) = (A), (C) #R (E)
(3)  Fa (B). (C) #t (D) @) A (A). (D) # (E)
Options:

5362281305. 1
5362281306. 2
5362281307. 3
5362281308. 4

Question Number : 28 Question Id : 536228337 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When the middle term 1s both positively and negatively related to the major term. the
inference 1s called,

(1)  Based on umformity of co-existence  (2) Kevalanavayi

(3)  Kevala vyatireka (4) Anavaya vyatireki

Options :

5362281309. 1
5362281310. 2
5362281311. 3

5362281312. 4



Question Number : 28 Question Id : 536228337 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T4 A UE WA UF H TRAIHF AT TERGAE 21 £ 9 Gatad w6 @ a1 St weemd 2,

(1) He-Afdea 1 TEET T AT (2) et
(3) A AT (4) =7 =
Options :

5362281309. 1
5362281310. 2
5362281311. 3

5362281312. 4

Question Number : 29 Question Id : 536228338 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From the following 1dentify those which illustrate the fallacy of the unproved middle?

(A)  Ashrayasidha
(B)  Swarupasidha
(C)  Vyapyatvasidha
(D) Virudha

(E) Badhita

Choose the correct answer from the options given below :

(D (A). (B) and (C) only (2) (B). (C)and (D) only
(3)  (A)., (D) and (E) only (4) (A). (C)and (D) only
Options:

5362281313. 1
5362281314. 2
5362281315. 3
5362281316. 4

Question Number : 29 Question Id : 536228338 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

FEIREd B 8 3 TeaH I S AEE 759 U2 F Zeai9E H TS i A 7

&) wmAEg

(B) wEEUEg

(C) =g

D) Fwg

() =

() #== (A). (B) 37 (O) @) (G

(3 F (A). (D) 3 (E) @ = (), (0 )
Options:

5362281313. 1
5362281314. 2
5362281315. 3
5362281316. 4

Question Number : 30 Question Id : 536228339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Upamiti 1s defined as knowledge of the relation between a word and 1ts
denotation.

Statement II: Verbal testimony is the statement of a trustworthy person and consists in
understanding 1ts meaning.

In the light of the above statements, choose the most appropriate answer from the options
g1ven helow :

(1)  Both Statement I and Statement II are correct

(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement IT 1s incorrect
(4)  Statement I1s incorrect but Statement II 1s correct

Options :

5362281317. 1
5362281318. 2
5362281319. 3

5362281320. 4



Question Number : 30 Question Id : 536228339 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FoE (I): 3R 1 92 A0 39% A4 F o= % 999 F 79 % =9 5 G0eid
o (II) : 9752 YA FRel ST =3f 1 69 71 2 991 75 b A9 SEed 9 Tl 7 |
ITTA FUAl % A H ARG e § © gai S I
(1) #IaR A =67 |
(2)  #uA 1 3R 2 581 77 2 |
(3) 1 T# & b e [ T 2
@  FF 198 T 2 e o OTa 2
Options :
5362281317. 1
5362281318. 2
5362281319.3

5362281320. 4

Question Number : 31 Question Id : 536228340 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s true in respect of computers?
(1) Software 15 loaded into secondary storage from RAM and is then executed by CPU.
(2)  Software 1s loaded into RAM from secondary storage and 1s then executed by CPU.

(3)  Software 1s loaded into RAM from secondary storage and 1s then executed by
motherboard.

(4)  Software 1s loaded into secondary storage from RAM and 1s then executed by
motherboard.

Options :
5362281321. 1
5362281322. 2

5362281323. 3



5362281324. 4

Question Number : 31 Question Id : 536228340 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fofiesifiaa # @ -1 F9H FOg % Gad H HE B

[l

(1)  gwzam %1 W RAM) § fgdes w=ra o @ 9w 2 & aee | 0 7 g Gt

o T 7 |
() wirE s =he W (RAM) § @ B 9 2 i aervE A b g g et
T T 7 |

(3)  wiweEm i fedra® =ns @ 10 (RAM) § =15 e 1 7 S aeivea evrs g = e
FAIE |

(4  HiE W W (RAM) & s =i A o 6 9§ 9 aee S g G e
T 7 |
Options :
5362281321. 1
5362281322. 2
5362281323. 3

5362281324. 4

Question Number : 32 Question Id : 536228341 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: ‘SWAYAM' an imtiative of the Government of India, aims at providing
affordable and qualty education to the atizens.

Statement IT: ‘SWAYAM' aims at promoting the education and health of adolescent gils.

In the hight of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3)  Statement I is correct but Statement II 15 false

(4)  Statement I 1s incorrect but Statement II 1s true

Options :



5362281325. 1
5362281326. 2
5362281327.3

5362281328. 4

Question Number : 32 Question Id : 536228341 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FH ([): = (SWAYAM) 9Wd HCHR i TF Tl 7 T 399 AGCH F AHAAGET SR
ORI T e O

FoH (I): ‘@ (SWAYAM)' %1 2273 Fratfoni & o foven o wmess 1 sgran 20 2 |

ST FAT F A 4 A Ahed 8 g g

() #RIRIFGAE |

@ o I IL 3 e 7 |

(3)  FF 15 2 fig FoF [ 2|

(4)  FF ] 2 g o I 2

Options :
5362281325. 1
5362281326. 2

5362281327.3

5362281328. 4

Question Number : 33 Question Id : 536228342 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): Random Access Memory (RAM) 1s volatile and stores data/programs

currently in use.

Reason (R) : RAM 1s a storage medium that retains 1ts contents even after the supply of

electricity has been turned off.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2)  Both (A) and (R) are true but (R) 12 NOT the correct explanation of (4)
(3)  (A)1strue but (R) 1s false

(4)  (A)1sfalse but (R) 1s true

Options:

5362281329. 1
5362281330. 2
5362281331.3
5362281332.4

Question Number : 33 Question Id : 536228342 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A1 21 T fow T 2 v At (A) S g F A (R) e E

i

A (A): 739 veEm T (RAM) TEF UiEdAE E 2 AN 39N 99E 1 T R S

7 ®): ™ (RAM) ™ =7 7o 2 it o fveeq freft ot o 21 0 % o
ofl 7 75 £

T T F AF 4 e e 19 I o

(1) (&) 3R R) 2 = 3 R), (A) F 79 =0 3 |
@ ()3 @) g B), () F A e
@ Q=T R T R
@ (AT T 2w R F

Options :

5362281329. 1

5362281330, 2

5362281331.3

5362281332. 4

Question Number : 34 Question Id : 536228343 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List [ with List IT

List I ListII
(Computer Terms) (Description)
(A) Operating System (0S) (I) A service that runs on the internet.

(B) WWW (II) Software that helps an OS to control a
piece of hardware.

(C) Dewice Driver (IIT) Software that controls peripherals and
allocates memory and processor time.

D) IP (IV) Defines network addresses and 1s used
for routing packets.

Choose the correct answer from the options given below :

1) A)-I. (B)-IV), (C)-II), (D))
2 A, B)-D. (C)-ID). D)-IV)
(3 @-V), B (O, (DD
@4 (A (B (W) (C)-I0), (D)-@)
Options:

5362281333. 1

5362281334. 2

5362281335. 3

5362281336. 4

Question Number : 34 Question Id : 536228343 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 %1 g1 @ gufe Fifae .

il TII
(g e ()
@) smfen fewe (a1 ) 0) & § = Tl v
®) w5w = (W) @) vl A e
A w8 ) T " 2
) et (1) s 5t A R e o

A1 YT T T 25N A H
D) = (IP) (V) 729% T3HA F1 A F 2 A T
(1) (A1), (B)-IV), (C)-(IID). (D)-(T)
2 A, B)-D. (C)-(II), (D)IV)
@ (A)-IV), (B)-@). (C)-1I), (D)-III)
@) (A, B)-IV). (C)-ID. D)D)
Options :
5362281333. 1
5362281334. 2
5362281335. 3
5362281336. 4

Question Number : 35 Question Id : 536228344 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider the following incomplete sentence :

Wi-F11s short for Wireless Fidelity and 1t 1s a set of for using short range

to allow computing to connect to a LAN or to the Internet.

Complete the above sentence by choosing the correct words 1n order from the following hist :
(A) Standards

(B) Waves

(C) Devices

Choose the correct answer from the options given below :

1) (C),(B). (4) (2) (C).(A), ®)
(3) (A).(C).®) 4 (A).®B). (0
Options :

5362281337. 1
5362281338. 2
5362281339. 3

5362281340. 4

Question Number : 35 Question Id : 536228344 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frferfiga e @ @ famm i |

Wi-Fi, Wireless Fidelity #1 #fém 78 7 a1 7% LAN 391 5002 & 934 § tfeserd Fl
748 S 7 A 7 A 1 AR FH AT H T W= 2 |

feiiiad T A H FAAER T4 T T B IR a9

T A W g 4 8w I g

(1) (C).(B). (@A) @ (C).(@A).®)
3 (4. (). 3B 4 (A).®).(©)
Options :

5362281337. 1
5362281338. 2
5362281339. 3

5362281340. 4

Question Number : 36 Question Id : 536228345 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Contamination of aguatic environment by Polychlorinated Biphenyls (PCBs) can originate
from

(A)  Sewage effluent

(B)  Waste incinerators
(C)  Toxic dumps

(D)  Thermal power plants
(E)  Transport sector

Choose the most appropriate answer from the options given below :

(1)  (A),(C). (E) only (2) (A). (B), D), (E) only
(3 (B).(C). (D)only @) (8. (). (C) only
Options :

5362281341. 1
5362281342. 2
5362281343. 3

5362281344. 4

Question Number : 36 Question Id : 536228345 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS AEHEes (PCBs) g1 e WHa 1 TgT0 Feiatan § ¥ 5 g a1ed & Fa ¢

(A)  HEF FEEE

(B) T W

(C) T F=

D) A W

(E) 1@ &

(1)  FF Q). (0. E) @ @ A). B). 0). E)

(3)  #a (B), (C). (D) 4) F3 (A), (B), (C)
Options :

5362281341. 1
5362281342. 2
5362281343. 3
5362281344. 4



Question Number : 37 Question Id : 536228346 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

Statement I: Emissions of hydrocarbons and carbon monoxide are inherently very low
from diesel vehicles.

Statement IT: Diesel driven vehicles are inherently more fuel efficient compared to petrol
driven vehicles.

In the light of the above statements, choose the most appropriate answer from the options
o1ven below :

(1)  Both Statement I and Statement II are correct

(2)  Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II 1s incorrect
(4)  Statement I 1s incorrect but Statement II 1s correct

Options :

5362281345. 1
5362281346. 2
5362281347. 3

5362281348. 4

Question Number : 37 Question Id : 536228346 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fRTFART T

Fol (I):  TIF B9 A S ATl H FESrhE S FEA A1 ARSI e E
FoF (IT): S =i aTe7 T &0 5 927 =i a1 i qerl § A Seam 7 B |
I Ol % ACE A A EeT § § w39 3
() TR I w2
() TR I I3 o 7 |
(B) T E g FE e 2
@) [ 7o 7 g 5o 1w 2 |
Options :
5362281345. 1
5362281346. 2

5362281347.3



5362281348. 4

Question Number : 38 Question Id : 536228347 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

If the intensity of a given noise increases two-fold, the noise level in decibels (dB)
Increases by

(1) ~2dB 2) ~3dB
(3) ~6dB (4 ~10dB
Options :

5362281349. 1
5362281350. 2
5362281351. 3

5362281352. 4

Question Number : 38 Question Id : 536228347 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 ~2dB (2) ~3dB
3 ~6dB (4 ~10dB
Options :

5362281349. 1
5362281350. 2
5362281351. 3

5362281352. 4

Question Number : 39 Question Id : 536228348 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Whach of the following sources of energy on combustion produces maximum carbon dioxide
per unit of energy output or heat content?

(1) Coal (sub-bituminous) (2) Natural gas
(3)  Diesel fuel and heating o1l (4) Gasoline (without ethanol)
Options :

5362281353. 1
5362281354. 2
5362281355. 3

5362281356. 4

Question Number : 39 Question Id : 536228348 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feAfeifian & % 7 % a1 % 35 W Ui 3 S A2 S I A A W A SEAEEE A

() e (- fgh) @) i
(3) I S A AR A (4) A (v )
Options:

5362281353. 1
5362281354. 2
5362281355. 3
5362281356. 4

Question Number : 40 Question Id : 536228349 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Formulation of long term — low emission development strategies by each country was
suggested under

(1)  Paris Agreement (2) Montreal Protocol

(3)  International solar alhance (4) Eyoto Protocol

Options:



5362281357. 1
5362281358. 2
5362281359. 3

5362281360. 4

Question Number : 40 Question Id : 536228349 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 20 3 A - FH IE [ WHE S SH F gEE et 3 8 e A
™

(1) v 7w (2) T T
(3)  TEHIAS TR AATH (4) T MEEE
Options :

5362281357. 1
5362281358. 2
5362281359. 3

5362281360. 4

Question Number : 41 Question Id : 536228350 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ayurveda, which deals with indigenous system of medicine, could be traced to :

(1) Rigveda (2) Yajurveda
(3) Samaveda (4) Atharvaveda
Options :

5362281361. 1
5362281362. 2
5362281363. 3

5362281364. 4



Question Number : 41 Question Id : 536228350 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

S, 1 et fafc ol 2, ¢ Al Feetn § & Fr fre 37

H @ T
(3)  =HEE (4) wA¥FEE
Options :

5362281361. 1
5362281362. 2
5362281363. 3
5362281364. 4

Question Number : 42 Question Id : 536228351 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following types of institutions come under the ambit of National Board of
Accreditation (NBA)?

(1)  Teacher education 1nstitutions (2) Technieal institutions
(3)  Aericulture institutions (4) Medical mstitutions
Options :

5362281365. 1
5362281366. 2
5362281367. 3

5362281368. 4

Question Number : 42 Question Id : 536228351 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fetferligs o & fFm T i GeaT U THOE A€ (0 S ) % ST F ST o

(1)  To5 e geam TR
3 g @) fafeen s
Options :

5362281365. 1
5362281366. 2
5362281367. 3

5362281368. 4

Question Number : 43 Question Id : 536228352 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are indicators of external accountabihity for an institution of higher
learning?

(A)  Provision for professional development of teachers.

(B)  Utihzation pattern of ibrary and techmeal resources.

(C)  Relevance of courses to the socletal needs.

(D)  Performance of students in public examinations.

(E)  Employment pattern of pass-out students.

Choose the correct answer from the options given below :

(1) (A).(B).(C)only (2) (B). (C). (D) only
(3)  (C). (D). (E)only 4) (D). (E). (A) only
Options:

5362281369. 1
5362281370. 2
5362281371.3
5362281372.4

Question Number : 43 Question Id : 536228352 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fefafad § 8 FA-3 fd 3= siferm wen =g o el F og= 2 7

(B)  TEHI 3TN A TEEAT % 3T Fi Ughd

(C)  TIETHA F HEIF S & T B
(D)  FEH Tl 8 fanfiE & gee

(E) 3w fernfi i1 Feme vl
= 51 T T @ wE I g

1) F== A, (B). (C) (2 = (B), (O). (D)

@ ¥ (0), D), ) @ 0. @ @

Options :

5362281369. 1
5362281370. 2
5362281371. 3

5362281372. 4

Question Number : 44 Question Id : 536228353 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which statutory body of a University has the power to accord formal approval to the
programmes and courses of studies?

(I)  Senate (2) Syndicate
(3)  Academic Council (4) Board of Studies

Options :

5362281373. 1
5362281374. 2
5362281375. 3

5362281376. 4



Question Number : 44 Question Id : 536228353 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ereft favateers 0 Wt T F T8 S5 FEF S T A A o
I 7 27

(1) ®He @) favdrre
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Options :

5362281373. 1
5362281374. 2
5362281375. 3

5362281376. 4

Question Number : 45 Question Id : 536228354 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are objectives of a performance appraisal system?

(A)  To help an employee in finding out his/her own strengths and weaknesses.
(B)  To help in creating desirable organizational ethos.

(C)  To help in 1dentifying people for the purpose of motivating and training them for new
roles.

(D)  To help in distinguishing the non-performers from performers.

(E)  To enable learners to understand the weakness in the system.

Choose the correct answer from the options given below :

(1) (A). (B). (C)only (2) (B).(C). (D) only
(3)  (C). (D). (E) only (4) (E). (D). (A) only
Options :

5362281377. 1
5362281378. 2



5362281379. 3
5362281380. 4

Question Number : 45 Question Id : 536228354 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feferfad § @ #H-1 fome b2 A Tl % 77 B 7

(A) T T Fi 3% THEARTE U THENEE 941 F1 0 o TH § 30 Tl B |
(€) 7 qfwmal 7q U 3 WA F % T @ 6w § e
(D) 37 © T T T AN 3F W T Ao T F 99 @98 T § TeEa w659 |

(E)  wiorgst =1 =xawen 1 @it 1 7934 § g0 546 |

()  Fa (A), (B), (C) 2) Fad (B), (C). (D)
3)  #&a (0), (D), (E) @ ¥ (E), (D), (A)
Options :

5362281377. 1
5362281378. 2
5362281379. 3

5362281380. 4

Sub-Section Number : 3
Sub-Section Id : 53622815
Question Shuffling Allowed : Yes

Question Id : 536228355 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the passage carefully and answer questions from 46 to 50.

The true role of our energy 1s to gain personal power and operate from 1t at all times. Today,
In many situations. people loose thelr personal power in relationships between boss-
subordinate, client-customer, colleague-colleague, teacher-student, hushand-wife, parent-
child, Friend-Friend. ete. Often in these relationships someone plays the role of the
oppressor while the other plays the role of the oppressed. But this 1s a great weakness in the
relationship and 1t undermines people’s capacity to be their authentic sieves and accomplish
what they want in their lives. We need personal power to hold our self-esteem and go
forward to succeed m our pursuits. Human relationships often deteriorate through these
power struggles and ultimately both, whether they are playing the role of an oppressor or
the oppressed. lose their personal power. Personal power can be seen as the result of an
interplay between masculine and femimne forms of power. Both these forms of power can
co-exist in both men and women. Both femimine and the masculine forms of power need to be
honoured and expressed for a beautiful presence and creation in the world. We have to gamn
a deeper understanding the characteristics of masculine and femimne forms of power.

Sub questions

Question Number : 46 Question Id : 536228356 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Relationships of different types of power among people will lead to

(D Social diversity

(D) Hierarchical structure

(3) Balance of power 1n society

(4) Subjugation of the weak and meek

Options :

5362281381. 1
5362281382. 2
5362281383. 3
5362281384. 4

Question Number : 47 Question Id : 536228357 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The power relations in a society tend to
(1) Hurt self accomplishments by people
(2) Improve the people’s abilities

(3) Increase zelf-esteem
(4) Have more oppressors than the oppressed
Options :

5362281385. 1
5362281386. 2
5362281387. 3
5362281388. 4

Question Number : 48 Question Id : 536228358 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Loss of personal power In the society 1s attributed to

(1)  Rigid human relations (2) Aggressiveness of the opressors
(3)  Weakness of the oppreased (4) Power struggle in society
Options :

5362281389. 1
5362281390. 2
5362281391. 3
5362281392. 4

Question Number : 49 Question Id : 536228359 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Interplay of forms of power 1s

(1)  The essence of success 1n our pursuits (2) Distinetly gender-based
(3)  Nothing but assertion of power (4) Needed for the creation of world

Options :
5362281393. 1

5362281394. 2



5362281395. 3
5362281396. 4

Question Number : 50 Question Id : 536228360 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage focuses on the 1dea of

(1) Importance of power struggle

(2)  Different forms and structures of power

(3)  The need for power division in the society

(4)  Harnessing personal power 1n the interest of co-existence
Options :

5362281397. 1
5362281398. 2
5362281399. 3
5362281400. 4

Question Id : 536228355 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 536228356 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
(1) = e
(2) | B
(3)  TE ¥ widd Age
(4)  FEER AR o i s
Options :
5362281381. 1
5362281382. 2
5362281383. 3

5362281384. 4

Question Number : 47 Question Id : 536228357 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



forell wmTs § wfea F@dl i T w2

(1) SN gHT F-3TeAsd il =2 TEaI
(2) =TT i AEae § gaw = e
(3) ATTH—HHE "2

(4)  ifea =i 29z wfE gE g 1iSE # 2E

Options :

5362281385. 1
5362281386. 2
5362281387. 3

5362281388. 4

Question Number : 48 Question Id : 536228358 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TS | dafaa afFd Fi 2 F e E -

(1) 7= 974 Had (2) Tise =HidTa i AHHEBA
(3)  ifsa =afFa i FHAN] (4) T | T HHY
Options :

5362281389. 1
5362281390. 2
5362281391. 3

5362281392. 4

Question Number : 49 Question Id : 536228359 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  =9% S | Thetal & T @) fafere =1 3 fom amaf@
(3) EE] a1 wfeF T T2 (4) fara = BEE ?@ AETIF
Options :

5362281393. 1



5362281394. 2
5362281395. 3

5362281396. 4

Question Number : 50 Question Id : 536228360 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= TES 1 AN Atetiad 0 o g gEema WY

(1)  =ifFa o949 =1 95
(2)  wifFa = fafi= =9 s ==

(3) TS | wiEd AT i STavad

(4)  TE-wIfEca & e ° FafFa= wiea = 2

Options:

5362281397. 1
5362281398. 2
5362281399. 3

5362281400. 4

PART II Commerce
Section Id : 5362286
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622816
Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 536228361 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per Section 80G maximum deduction allowed for any cash donation 1s upto

(1) Rs. 1.000 (2) Rs. 2,000
(3) Rs. 5.000 (4) Rs. 10.000
Options :

5362281401. 1
5362281402. 2
5362281403. 3

5362281404. 4

Question Number : 51 Question Id : 536228361 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9T 80G F d5d THH1 792 =92 = 190 19Fan Fardl a1 5 Tl 7 7

(1) . 1,000 (2) %. 2,000
(3) %. 5,000 (4) % 10,000
Options :

5362281401. 1
5362281402. 2
5362281403. 3

5362281404. 4

Question Number : 52 Question Id : 536228362 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In Leontief production function. L 1s considered as

(1) Structural constraint in the production process
(2) Degree of Homogeneity
(3) Binding constraint in the production process

(4) Optimisation constraint in the production process
Options :
5362281405. 1
5362281406. 2
5362281407. 3

5362281408. 4

Question Number : 52 Question Id : 536228362 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foraafes Frared ward § L &1 011 1ol 2

(1) Feared uferan § ST s1aie (2)  HURTEr & =
(3)  TeTed Wik H areasl iy (4) IETE i ° ToANE Ay
Options :

5362281405. 1
5362281406. 2
5362281407. 3

5362281408. 4

Question Number : 53 Question Id : 536228363 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



EPRG framework 1n International Business refers to

(1) Ethno. Poly. Regio. Geo Transformations

(2) Ethnocentrie, Polycentric, Reglocentric and Geocentric Orientations
(3) Ethics, Policies, Regulations, Guidelines Orentations

(4) Every Person Refers Global Framework

Options :

5362281409. 1
5362281410. 2
5362281411. 3

5362281412. 4

Question Number : 53 Question Id : 536228363 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  so1, aref, e, f9et serrmem

(2)  SHAEIES, GreAitlesd, HasAdi-2s Us T937ifigs AHu-2ag
(4) T T TR TeEE SHaE

Options :

53622814009. 1

5362281410. 2

5362281411. 3

5362281412.4

Question Number : 54 Question Id : 536228364 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is not a major direct selling company in India?

(1) Eureka Forbes (2) Amway India Enterprises
(3) Modicare (4) Hindustan Unilever Ltd.
Options :

5362281413. 1
5362281414. 2
5362281415. 3

5362281416. 4

Question Number : 54 Question Id : 536228364 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et @ o %19 WA § U T SEe Hier S A6 A 7

(1) == = (2) UHd IfSE TEUESS
(3)  TEEE (4) Trgmm FHife=m o,
Options :

5362281413. 1
5362281414. 2
5362281415. 3

5362281416. 4

Question Number : 55 Question Id : 536228365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following statements is “True’ in partnership?

(I)  In the absence of any provision in the partnership deed, only a working partner 1s
entitled to remuneration.
(2)  Any firm which earns normal profit has no goodwill.

(3)  The business of the firm must be carried on by all the partners.

(4)  Interest on loan given by a partner to the firm shall be paid if there are profits.

Options:



5362281417. 1
5362281418. 2
5362281419. 3

5362281420. 4

Question Number : 55 Question Id : 536228365 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

freAfetEs & 3 %M T F9 W 27

()  wmerer foomg o Tl 3w & 76 71 1 2 0 Fae S ArEiEn iyt #5179 2|
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(4) =9 T T TRE AL g T I E0 T W A ) HEE S S|
Options :

5362281417. 1

5362281418. 2

5362281419. 3

5362281420. 4

Question Number : 56 Question Id : 536228366 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following relationships is true in a model distribution?

(1)  Mean—Mode = 3 (Mean — Median)  (2) Mode = 3 Median — 2 Mean
(3) 3 Median = 2 Mean + Mode (4) 2 Median — 3 Quartile Deviation = 2 Mean

Options :

5362281421. 1
5362281422. 2
5362281423. 3

5362281424. 4



Question Number : 56 Question Id : 536228366 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

foFeft ais Hiaam & Fefaiad § ° FEE 5ad 76 2 7

(1) =% — =g = 3 (A1eA — mifer ) (2) SEH = 3 Wi — 2 9T

(3)  3wifeH = 2 WA + A (4) 2 95eF -3 I fa=em = 2 o=
Options:

5362281421. 1
5362281422. 2
5362281423. 3

5362281424. 4

Question Number : 57 Question Id : 536228367 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In continuous compounding, the time it takes to double the sum grossly follow Rule of 69°. If
1t 1 changed to discrete compounding, the relevant rule of thumb 1s

(1) Rule of 69.3 (2) Ruleof 72
(3)  Rule of 84 (4) Rule of 64
Options :

5362281425. 1
5362281426. 2
5362281427. 3

5362281428. 4

Question Number : 57 Question Id : 536228367 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T TG WA T O F A T AR § O 9 B F 9ed ¥ o 1§ 69 7 T a
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1) 693 2 77N
(3) Fms4 (4) T/ 64
Options :

5362281425. 1
5362281426. 2
5362281427. 3

5362281428. 4

Question Number : 58 Question Id : 536228368 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The ‘going concern concept’ 1s the underlying basis for

(1)  Disclosing the market value of securities

(2)  Consolidating the accounts of subsidiary companies with those of parent company
(3)  Depreciating fixed assets over thewr useful lives

(4)  Disclosing the sales and other operating information in the income statement
Options :
5362281429. 1
5362281430. 2
5362281431. 3

5362281432. 4

Question Number : 58 Question Id : 536228368 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1] FFEAE F AFGEON AT § e A Shn 2

(1) GBI T AN o = T
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(4) =™ == faoi | fawa va u=EE ° geihd S99 FEE w5 359
Options :
5362281429. 1
5362281430. 2
5362281431.3

5362281432. 4

Question Number : 59 Question Id : 536228369 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘Constraint Optimisation’ is closer to which of the following objectives of business firm?
(1) Sales maximisation (2) Profit maximisation

(3)  Satisfying behaviour (4) Rent seeking behaviour
Options :
5362281433. 1
5362281434. 2
5362281435. 3

5362281436. 4

Question Number : 59 Question Id : 536228369 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i ATaEYEIar wOEn $9 = Aeea o | 6 5evw % e 27

(1) for stfemamsm (@) T AT
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Options :



5362281433. 1
5362281434. 2
5362281435. 3

5362281436. 4

Question Number : 60 Question Id : 536228370 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a rising consumer income scenario, the preferred decision choice of business firms for low
income elastic products will be

(1)  Product promotion (2) Cost control
(3)  Product repositioning (4) Product improvement
Options:

5362281437. 1
5362281438. 2
5362281439. 3

5362281440. 4

Question Number : 60 Question Id : 536228370 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

5 SN A Uy H, e s e e # o Feen w o o mafea fo e s

(1) 3772 59 (2) =
(3) IR : e (4) R T
Options :

5362281437. 1
5362281438. 2
5362281439. 3

5362281440. 4



Question Number : 61 Question Id : 536228371 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If an estimated Cobb-Douglas production function is @ =10K"°L"®, what type of returns to
scale does this production function indicate?

(1) Increasing returns (2) Decreasing returns
(3) Constant returns (4) Negative returns
Options :

5362281441. 1
5362281442. 2
5362281443. 3

5362281444. 4

Question Number : 61 Question Id : 536228371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T TR AR FE-SE A A @ =10K L 2, 1 7% ane ety T R TR

(1)  #ed 50 Vv () =z I T
(3)  fEn iR (4) FHREF T
Options:

5362281441. 1
5362281442. 2
5362281443. 3

5362281444. 4

Question Number : 62 Question Id : 536228372 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Pricing strategy of setting a high price when a product 1s introduced and gradually lowering
1ts price 1s known as

(1)  Skimming (2) Penetration pricing
(3)  Peak load pricing (4 Dumping
Options :

5362281445. 1
5362281446. 2
5362281447.3

5362281448. 4

Question Number : 62 Question Id : 536228372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tl SeaTe i ST ° T T I A F T e e wEi AR 9 9 6 e

() i (2) TR e
(3)  tih wTE TSt (4) ==
Options:

5362281445. 1
5362281446. 2
5362281447.3

5362281448. 4

Question Number : 63 Question Id : 536228373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not true for Mass Marketing?

(1) Provides very little scope for custommsation
(2) Deals with customers directly
(3) Normally followed in case of FMCG and SMCG Goods

(4) Relies heavily on advertising

Options :



5362281449. 1
5362281450. 2
5362281451. 3

5362281452. 4

Question Number : 63 Question Id : 536228373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FAEUUE (5T AR ) o AW H (efeiad 9§ o ' e 2 7
(2)  T= WEF U oA YA B 2
(3)  =HE AETd: UE.UHHIL . #F vH. RS, F A § 0o S A E
@ =z fagma @ whr e g 2
Options :
5362281449. 1
5362281450. 2
5362281451. 3

5362281452. 4

Question Number : 64 Question Id : 536228374 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A manufacturing enterprise monthly consumes 1,350 units of raw materal at the cost of Rs.
20 per umt. Determine its economic order quantity given the ordering cost of Rs. 2,400 and
carrying cost of inventory being 30 percent of the price paid.

(1)  3.600 umts (2) 2.400 umts
(3)  4.800 units (4) 2,700 umts
Options :

5362281453. 1
5362281454. 2

5362281455. 3



5362281456. 4

Question Number : 64 Question Id : 536228374 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e fafmim wem % wiowe 20 %. Wi 32 H1 @@ W 1,350 M2 F= W H @ w6 7 2,400 %

(1) 3,600 T2 (2) 2,400 32
(3) 4,800 T (4) 2,700 7+
Options :

5362281453. 1
5362281454. 2
5362281455. 3
5362281456. 4

Question Number : 65 Question Id : 536228375 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The portfolio theory articulates diversification to reduce which of the following risks?

(1) Market nsk (2) Financial risk
(3)  Unsystematic risk (4) Business rsk
Options :

5362281457. 1
5362281458. 2
5362281459. 3

5362281460. 4

Question Number : 65 Question Id : 536228375 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) =91 STgs (2) Tovm s
(3) At S (4) =EETEE FTEn
Options :

5362281457. 1
5362281458. 2
5362281459. 3

5362281460. 4

Question Number : 66 Question Id : 536228376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When forelgn currency assets and habilitles match in terms of amount of exposure and
timing of maturities, 1t 1s described as :

()  Financial hedge (2) Natural hedge
(3)  Perfect hedge (4) Netting
Options :

5362281461. 1
5362281462. 2
5362281463. 3

5362281464. 4

Question Number : 66 Question Id : 536228376 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

7o et mg1 wfegufeat S e, Thed 1 S S A F e e A 2l 36 A
A e 27

(1) i g (2) afiF g

(3) T T (4)

Options :



5362281461. 1
5362281462. 2
5362281463. 3

5362281464. 4

Question Number : 67 Question Id : 536228377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the probability that a randomly choosen card from a deck of cards will either be a
King or a Spade?

()  0.3077 (2) 0.3269
(3 0.0384 (4) 0.3169
Options :

5362281465. 1
5362281466. 2
5362281467. 3
5362281468. 4

Question Number : 67 Question Id : 536228377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A9 % TE A H ST U U1 e T 36 S1geE A1 A B S e a9 2 7

(1) 0.3077 (2) 0.3269
(3) 0.0384 (4) 0.3169
Options :

5362281465. 1
5362281466. 2
5362281467. 3

5362281468. 4



Question Number : 68 Question Id : 536228378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The standard deviation of the binomial distribution 1s :

(1) np (2) NE
(3) npg (4) +/npg
Options :

5362281469. 1
5362281470. 2
5362281471.3

5362281472. 4

Question Number : 68 Question Id : 536228378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fgTe == =1 7 fa=em 7

(1) np (2) np
(3) npq (4) +/npgq
Options :

53622814609. 1
5362281470. 2
5362281471.3

5362281472. 4

Question Number : 69 Question Id : 536228379 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



When sampling 1s done without replacement then standard error of mean 1s :

'N-n
. 9 SE;=-_.|
; * Jn ( X m\N-1
[ I I'
@ SEg= o |(N-1 4) SE; = LS
n YN-n A1 1'! N

Options :

5362281473. 1
5362281474. 2
5362281475. 3

5362281476. 4

Question Number : 69 Question Id : 536228379 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
T TR = a1 UieeEA R S Bl " =i /e qie we

'N-n

ay BB - TR
* Jn ¥~ mIN-1

[ .
N -1 & n
{3} SE— = i II 4:} SE— i — I]. HE—
= '\.‘-'I'E 1l|| N-n ( = ,u.' ) 1||I|I N

Options :

5362281473. 1
5362281474. 2
5362281475. 3
5362281476. 4

Question Number : 70 Question Id : 536228380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not an example of compressed data?

(1) Data array (2) Frequency distribution
(3) Histogram (4) Ogive



Options :

5362281477. 1
5362281478. 2
5362281479. 3
5362281480. 4

Question Number : 70 Question Id : 536228380 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafeafiaa 5 o 991 STHsI—H1 = 3200 T8 8 7

(1)  sAHsT-Hw (2) srE-wEa
(3) A (4) =y fas
Options :

5362281477. 1
5362281478. 2
5362281479. 3
5362281480. 4

Question Number : 71 Question Id : 536228381 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Human Relations Approach rejected the ‘rabble hypothesis’ by giving which of the
following argument?

(1) The worker does not work for money only.
(2) A worker operates 1n a techno-economic system with no room for emotions.
(3)  Authoritaran style of leadership 1s more productive.

(4)  Indindual pays attention to self-achievement irrespective of informal group norms.
Options :
5362281481. 1
5362281482. 2

5362281483. 3



5362281484. 4

Question Number : 71 Question Id : 536228381 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
A @99 AT | EiEd § @ FiA 81T 2 W 6 SEaUiEE g e

(2) T TN UF G- AAF 79§ FH FA1 E A 9E F e s 9 Aw A

(3) AT :I'-j_fd ) o e ot B v 1 i )
@ s g S S A - e
Options :
5362281481. 1
5362281482. 2
5362281483. 3

5362281484. 4

Question Number : 72 Question Id : 536228382 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of the following 1s not correct with respect to matrix organisation?

(1)  Itis a combination of functional and product organisation
(2)  Functional departments are not permanent fixtures of a matrix organisation
(3) Product departments are created as the need for them arises

(4) Team members have functional home when they are not needed on a project
Options :
5362281485. 1
5362281486. 2
5362281487. 3

5362281488. 4



Question Number : 72 Question Id : 536228382 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fowe w1z % am o feafeliga 4 @ #6727

(1) T A AR I T F JH 2|

(2) T T PR A A © i w0 E T T A

(3)  AEATIFEAEY T T = T Frerr T 2|

(4 T wiEsE F o SEvEE 2 T A T F 5 O TR T (TR )
Options :

5362281485. 1

5362281486. 2

5362281487. 3

5362281488. 4

Question Number : 73 Question Id : 536228383 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

As per Carroll Model. the four levels of Corporate Social Responsibility are :

(1) Physical. economie. social and legal

(2) Physical, economic, legal and ethical

(3) Philanthropic. economie. legal and ethical
(4) Philanthropic. economie, social and ethieal
Options:

5362281489. 1

5362281490. 2

5362281491. 3

5362281492. 4

Question Number : 73 Question Id : 536228383 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
(2)  oifaw, id=s, f&fas o1 sEr-madg
(3)  HrE-Teddl, iy, faias 31T A=E-ga9di
(4)  AFE-Teadl, AU, FETAE AT AEE-TEH
Options :
5362281489. 1
5362281490. 2
5362281491. 3
5362281492. 4

Question Number : 74 Question Id : 536228384 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who coined the term ‘Collective Bargaining™

(1) Reed Richardson (2) Kurt Lewin
(3) W.E. Deming (4) Sydney Webb and Beatrice Webb
Options:

5362281493. 1
5362281494. 2
5362281495. 3
5362281496. 4

Question Number : 74 Question Id : 536228384 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

1 s e (2) Fd WA
(3) se.s. sfm (4) o=l 99 n fafem 3=



Options :

5362281493. 1
5362281494, 2
5362281495. 3
5362281496. 4

Question Number : 75 Question Id : 536228385 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The headquarters of the ASEAN 1s located 1n which of the following country?

(1) Indonesia (2) Vietnam
(3) Thailand (4) Singapore
Options :

5362281497. 1
5362281498. 2
5362281499. 3

5362281500. 4

Question Number : 75 Question Id : 536228385 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT 1 g e gm | B 7

(1)  SSHfEET (2) TaEaH
(3) s (4 T
Options :

5362281497. 1
5362281498. 2
5362281499. 3

5362281500. 4



Question Number : 76 Question Id : 536228386 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s the rate of tax deduction at source from 1nsurance commission in case of Person':

(1) 2 percent (2) b percent
(3) 10 percent (4) 4 percent
Options :

5362281501. 1
5362281502. 2
5362281503. 3
5362281504. 4

Question Number : 76 Question Id : 536228386 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et =3t & TT9e O S FHEE 90 T 5 wadl o g e Y

(1) 2 percent (2) D percent
(3) 10 percent (4) 4 percent
Options :

5362281501. 1
5362281502. 2
5362281503. 3

5362281504. 4

Question Number : 77 Question Id : 536228387 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s a long term source of finance?

(1)  Commereial Paper (CP) (2) External Commercial Borrowings (ECB)
(3)  Factoring (4) Line of Credit (LOC)
Options :

5362281505. 1
5362281506. 2
5362281507. 3
5362281508. 4

Question Number : 77 Question Id : 536228387 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o da s e e T F aa 27

(1)  arffsas o= () (2) @ A= Ew (3 )
(3)  FF S (4) A ATE W2 (T )
Options :

5362281505. 1
5362281506. 2
5362281507. 3

5362281508. 4

Question Number : 78 Question Id : 536228388 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
What 1s a Repo Rate™?

(1) Is the rate at which RBI lends to State Government
(2)  Isthe rate at which International aid agencies lends to RBI
(3)  Isthe rate at which the RBI lends to Banks in case of short maturity

(4)  Isthe rate at which RBI borrows funds from the Commercial Banks in the country



Options :

5362281509. 1
5362281510. 2
5362281511. 3

5362281512. 4

Question Number : 78 Question Id : 536228388 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T 2 T T A R Y

(1) 77 =1, T8 W 9nAE 5 o 799 TN F 39E =dl 2

2 9% =, o W S gEEar vt gwdE o a9 3un 3t 7

(3) Tz 21, T w vrdtg fred & oo aftawar & ame °§ A A 39R 29 2
(4) 7 =, 50 T awdE fiod o 29§ St W O gAem 39R o6 2
Options :
5362281509. 1
5362281510. 2
5362281511. 3

5362281512. 4

Question Number : 79 Question Id : 536228389 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Marketing, DSA stands for

(1) Delvery Staff Agency (2) Direct Supplier Agent
(3)  Direct Selhng Agent (4) Distrbution and Supply Agency
Options :

5362281513. 1
5362281514. 2

5362281515. 3



5362281516. 4

Question Number : 79 Question Id : 536228389 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ferqor = | 4, 21 R v sy 2

(1)  feciad = v (2) TEER HER TS
(3) =i afem vee (4) Terdreqam wwg Hemd UaH]
Options :

5362281513. 1
5362281514. 2
5362281515. 3
5362281516. 4

Question Number : 80 Question Id : 536228390 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which of the following stages of product life eycle a company reduces sales promotion to
take advantage of heavy consumer demand?

(1)  Introduction (2) Growth
(3)  Matunty (4) Decline
Options :

5362281517. 1
5362281518. 2
5362281519. 3

5362281520. 4

Question Number : 80 Question Id : 536228390 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



IR AT 9% F 50 O § FoA A A AE T F A 9 o Ea-tadd § S
A 27

(1) s o g () ToFm %=
(3)  iEa = A 4) FTEFHTOH
Options :

5362281517. 1
5362281518. 2
5362281519. 3

5362281520. 4

Question Number : 81 Question Id : 536228391 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following price adjustment strategies. a company reduces prices to reward
customer responses such as volume purchases, paying early or promoting the product?

(1)  Discount and allowance pricing (2) Psychological pricing
(3)  Promotional pricing (4) Dynamie pricing
Options:

5362281521. 1
5362281522. 2
5362281523. 3
5362281524. 4

Question Number : 81 Question Id : 536228391 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

frAfcmigd 4 9 0 073 TURSH FEAI % Ted F FE1 O TR, T3 PAE A991 30 Fa99 9
T ST Bl TedTiza e 7 (70 il § Fardl Fel 2/

M) i Fe (@) iR e o
(@) T i (@) e f

Options:



5362281521. 1
5362281522. 2
5362281523. 3

5362281524. 4

Question Number : 82 Question Id : 536228392 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Some doctors charge patients for missed appointments because the service value existed only
at that point and disappeared when the patient did not show up. 1s an example of which one
of the following four service characteristics?

(1)  Inseparability (2) Intangibility
(3)  Vamahbility (4) Perishabihity
Options:

5362281525. 1
5362281526. 2
5362281527. 3

5362281528. 4

Question Number : 82 Question Id : 536228392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

W e o 3R 90 F TE 9H W T SA 7 O 9 O i efetas 9n e 8 O e
d@rl'lf%f?

(1) = @)
(3)  fafaem (4) TawRmEm
Options :

5362281525. 1
5362281526. 2
5362281527. 3

5362281528. 4



Question Number : 83 Question Id : 536228393 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which one 15 False as per the relevant provisions of the Indian Contract Act. 18727

(1) A void agreement is one that is not enforceable hy law
(2)  Assignment 1s the obvious mode of discharge of a contract

(3)  Where a party waives its rights under the contract, the other party 1s released of 1its
obligations under the contract

(4)  Where the subject matter of a contract 1s destroyed for no fault of the promisor, the
contract does not become void by 1mpossibility of performance

Options :

5362281529. 1
5362281530. 2
5362281531. 3

5362281532. 4

Question Number : 83 Question Id : 536228393 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FTafEs § 8 FAE GRS AR 1872 F TEigd TEaM S8R T 7 7

() % 9= o o & o faf g e 2

Q) T, HEE T A W =
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(4) T AEEERR i e F S G ) aE-ae T2 S g, 9 e, FoE i mee
2 9 T 2|

Options:

5362281529. 1

5362281530. 2

5362281531. 3

5362281532. 4



Question Number : 84 Question Id : 536228394 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not an implied condition 1n a contract of sale?

(I)  Condition as to quality or fitness (2) Condition as to merchantable quality
(3)  Condition as to wholesomeness (4) Condition as to free from encumbrances
Options :

5362281533. 1

5362281534. 2

5362281535. 3

5362281536. 4

Question Number : 84 Question Id : 536228394 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fagd = T 9 FHefeiEa 9 9 99 UF HiEd 7d T8 R v

Options :

5362281533. 1
5362281534. 2
5362281535. 3

5362281536. 4

Question Number : 85 Question Id : 536228395 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following does not come under the defimtion of “Information” under RTI Act.
2005?

(1)  Log Books (2) Circulars
(3)  File Notings in the process (4) Data material held in any electronic form
Options :

5362281537. 1
5362281538. 2
5362281539. 3

5362281540. 4

Question Number : 85 Question Id : 536228395 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fafefiga @ @ w1 g 1 sl sfafEm, 2005 F i F s T o 27

1) =rmEF (2) i
(3) WA § FEA ° Fi TS A (4) THHET ST T | GIE = A
Options :

5362281537. 1
5362281538. 2
5362281539. 3

5362281540. 4

Question Number : 86 Question Id : 536228396 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Under which section of Information Technology Act of 2000, updated m 2008, stealing any
digital asset or information 1s considered as cyber crime?

(1) 65 (2) 65D
(3) 67 (4) 70

Options :



5362281541. 1
5362281542. 2
5362281543. 3

5362281544. 4

Question Number : 86 Question Id : 536228396 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEA U A, 2000, FUmEiGE 2008 Fi 5 am F R R e e g g
1 T T TR AT AT A 27

(1) w65 (2) w65 H
(3)  ©m 67 (4) =70
Options :

5362281541. 1
5362281542. 2
5362281543. 3

5362281544. 4

Question Number : 87 Question Id : 536228397 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements 1s true for the set off and carry forward of loss under

the head ‘house property’ in India?
(1) Can be carried forward for 8 years
(2) Can not be carred forward
(3) Can be carned forward for 4 years

(4)  Can be carred forward mnfimtely
Options :

5362281545. 1



5362281546. 2
5362281547. 3

5362281548. 4

Question Number : 87 Question Id : 536228397 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
e 0 0 %1 @1 He v s sl F TEa F AER AEE G 9 F s 7 A

(1) 899 9% AW 531 91 T 7
(9) 0 T SR A wE
(3) 47 3% AT S 7 TFA 7

(4) 3 FIA F 10 A FeAT 7 T £

Options:

5362281545. 1
5362281546. 2
5362281547.3

5362281548. 4

Question Number : 88 Question Id : 536228398 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Surcharge of 10% (percent) 1s payable by an Individual where the total income exceeds :

(1)  Rs. 7.50,000/- (2) Rs. 8.50,000/-
(3)  Re. 50.00.000/- (4) Re. 20.00.000/-
Options :

5362281549. 1



5362281550. 2
5362281551. 3

5362281552. 4

Question Number : 88 Question Id : 536228398 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=t 1 10 Yiawm aifaam $ Ferht F ved 2 afe soeh Fo o frefafed 4 8 et a0

()  7,50,000/- wwL, @) 8,50,000/- &,
(3)  50,00,000/- ®9E, (4) 20,00,000/- &,
Options :

5362281549. 1
5362281550. 2
5362281551. 3

5362281552. 4

Question Number : 89 Question Id : 536228399 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Mohan, has rendered his services in India and retired in 2015. He then shifted and settled n
Singapore. The pension recelved by him for such services would be ?

() Deemed to accure or arise outside India
(2)  Deemed to accure or arise In India only when 1t 1s received in India
(3)  Deemed to accure or arise in India only when 1t 1s received outside India

(4)  Deemed to accure or arise in India
Options :
5362281553. 1
5362281554. 2
5362281555. 3

5362281556. 4



Question Number : 89 Question Id : 536228399 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 3 97 4 A A1 d R AR F 2015 § 9E HATAGE B | AR A SO i e |
TH 1| T T FI FE F w2 I H T

(1) 97 = T 6 T qe S
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(3)  THI T W 9wE T ATSA A I WA SO T A7 4G H A O e A
(4) WA § Afad S I W A

Options :

5362281553. 1

5362281554, 2

5362281555, 3

5362281556. 4

Question Number : 90 Question Id : 536228400 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Sugam 1s also known as :

(1) ITR-1 (2) ITR-2
(3) ITR-4 (4) ITR-6
Options :

5362281557. 1
5362281558. 2
5362281559. 3

5362281560. 4

Question Number : 90 Question Id : 536228400 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T F ARG § O e =0 F W S e 2

(1)  =mE & 3 m-1 (2) #ATE A HAR-2
(3) o= A wAn-4 (4) 3 & IR-6
Options :

5362281557. 1
5362281558. 2
5362281559. 3

5362281560. 4

Question Number : 91 Question Id : 536228401 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Mercosur, a South American Trade block 12 a :

(1) Free Trade Area (2) Common Market
(3) Custom Union (4) Economic Cooperation
Options :

5362281561. 1
5362281562. 2
5362281563. 3

5362281564. 4

Question Number : 91 Question Id : 536228401 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T, 2ferr smfeht =mm e #

(1) T =W & (2) TH 9
(3)  Hmmew g (4) =AidF =
Options :

5362281561. 1

5362281562. 2



5362281563. 3
5362281564. 4

Question Number : 92 Question Id : 536228402 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are possible negative impacts of FDI on domestic firms in host
countries?

(A)  Market monopoly

(B)  Technology dependence

(C)  Increased competition

(D)  Profit outflow

Choose the correct answer from the options given below :

() (A). (B) only
(2)  (B).(C)only
(3)  (A),(B). (D) only
4  (B).(C). (D) only
Options:
5362281565. 1
5362281566. 2
5362281567. 3
5362281568. 4

Question Number : 92 Question Id : 536228402 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



f=fea | © FiE UF S A % HeEE 29 § °ie] FA1 9 GHIEd THEIAS T9E 8 7
(A) =N TRHGFR
(B)  drnfER HeE
(C) =@l 7E Wiawmai

(D) =19 "EaE

TR fehedt | @A 37 =

(1) Fa4 (A). B)
(2) == (B). (C)
(3) A (A), (B). (D)

4 #== (B). (O). (D)
Options :
5362281565. 1
5362281566. 2
5362281567. 3

5362281568. 4

Question Number : 93 Question Id : 536228403 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Charging different prices for the same product in different markets until the MR of last unit
sold equals the MC of the produet sold in each market 1s described by

(A)  Price discrimination of first degree
(B)  Price discrimination of second degree
(C)  Price discrimination of third degree
(D)  Equlibrium price

(E)  Price discrimination

Choose the correct answer from the options given below :
(1) (A and (B) only

(2)  (A)and (C) only

(3)  (C)and (E) only

(4) (A and (D) only

Options :

5362281569. 1

5362281570. 2

5362281571.3

5362281572. 4

Question Number : 93 Question Id : 536228403 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



M gz Fi foft B TR T T T R A A T I i G AR F A9 B O -
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() Fma-fawg

(1) F= (4) 3 (B)
@)  Fa (A) 31 (C)
(3) &= (C) 3 (E)
(4) T (4) (D)
Options :
53622815609. 1
5362281570. 2

5362281571. 3

5362281572. 4

Question Number : 94 Question Id : 536228404 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps in logical sequence of operation of the Arbitrage Pricing Theory

(APT).
(A)  Estimate the Factor Sensitivities
(B)  Estimate the Risk Premium for Factor(s)

(C)  Identify the Macroeconomic Factors

Choose the correct answer from the options given below :
0 A.®).©
2  (B).@A.(©
3 (©.3B).@&

4 (©.A) ®)
Options :
5362281573. 1
5362281574. 2
5362281575. 3
5362281576. 4

Question Number : 94 Question Id : 536228404 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e Ao g (THET) o T o Al AEE H e iEd = ST

(A)  FF HAA AT F ATHE

B) FH F fow FifEs difem sgEe

(C) oA ATF FaH F1 S

Frafera fepest 5 & T4 3
D (@A.®).C)
@ B.@A.C)
(3) (C). (B), (A)

@  (O. @A) B

Options :

5362281573. 1
5362281574. 2
5362281575. 3

5362281576. 4

Question Number : 95 Question Id : 536228405 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Cost audit for Materials covers :

(A) Goods iInward procedure.

(B) Methods of calculating standard cost variance.

(C) Classzification of overhead.

(D) Accounting for scrap. wastage. materials transfers

(E) Accounting treatment of under or over absorption

Choose the most appropriate answer from the options given below :

(1) (A). (D) only
(2) (A). (E) only
(3) (A (B) only
(4 (E). (C)only
Options :
5362281577. 1
5362281578. 2
5362281579. 3

5362281580. 4

Question Number : 95 Question Id : 536228405 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A F1 AR S § e
(A) =g =T i T
(B) = =R UitEd & Ufead #1 4t

(C)  IUlE=md T T

(D) FaZ], FATI OTTHT, 3T F G

(E) 319 27941 S9N S99 1 Ers

i fam o famedl & ¥ mattaE s I 9T

(1) === (A). (D)
(2) === (A). (E)
(3) 4 (A). (B)
4) == (E). (C)
Options :
5362281577. 1
5362281578. 2

5362281579. 3

5362281580. 4

Question Number : 96 Question Id : 536228406 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following explains the declining slope of indifference curves?

(A) Diminishing marginal utility

(B)  Diminishing Marginal Rate of substitutions between the commodities
(C)  Diminmishing Marginal Rate of technical substitution

(D)  Ordinal measurement of utilities

(E)  Diminishing Marginal utility of money

Choose the most appropriate answer from the options given below :

(1) (A) and (D) only
(2) (B) and (D) only
(3) (C) and (D) only
(4) (A) and (E) only
Options :
5362281581. 1
5362281582. 2
5362281583. 3
5362281584. 4

Question Number : 96 Question Id : 536228406 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Ffatad 2 § 78 90" @ sHiaam 9% 1 5EaH g0 i T e Bl 2 7
(A)  BEEE ST STEE

(B) T F T TUHNA i gEEE HHE

(C)  TFARRI T i B " =

D)  SwA i TEE i GudicHE 1Y

(E) e =i BIEAH T T

e 5w v faweui 8 O gaita® sug I A

(1) =a (A) =7 (D)
(2)  Fa« (B) # (D)
(3)  @aa (C) ¥ (D)
4)  FF9 (A) IR (E)
Options :
5362281581. 1
5362281582. 2

5362281583. 3

5362281584. 4

Question Number : 97 Question Id : 536228407 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following 1s/are condition(s) for price discrimination of product?

(A)  Firm must have some monopoly power.
(B)  Price elasticities of demand for the product in different market must differ
(C) Market must be separable or able to be segmented

(D)  Free entry and exit of firms

Choose the correct answer from the options given below :

(1) (A) and (D) only
(2) (B). (C) and (D) only
(3) (A). (C) and (D) only
(4) (A). (B) and (C) only
Options :
5362281585. 1
5362281586. 2
5362281587. 3
5362281588. 4

Question Number : 97 Question Id : 536228407 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TR F ge9 T6g F o (eited § § 9 et 27

(A)  FH ® T FF THITHR 1 e
B) fia—fim w3 5e02 % fom wm it 579 = = e B =9

(D) AT SHIEAT 1 T=A= ATEIEA
R fompemt © @ oE S A

(1)  F== (A) 3 (D)

(2)  =ae (B). (C) 3 (D)
(3) T (A). (C) T (D)
(4) =& (A). (B) 311 (C)

Options :

5362281585. 1
5362281586. 2
5362281587. 3

5362281588. 4

Question Number : 98 Question Id : 536228408 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consumer rationality in business economics 1s collective manifestation of which of the

following assumptions?

(A)  Non-Satiation

(B)  Clarty of preferences

(C)  Divisibihity of goods and services
(D)  Economic selfish motive

(E)  Possession of information

Choose the most appropriate answer from the options given below :

(1) (A). (B) and (D) only

(2)  (A). (C) and (E) only

(3)  (A). (B), (C) and (D) only

4) (A, (B). (D) and (E) only
Options :
5362281589. 1
5362281590. 2
5362281591. 3

5362281592. 4

Question Number : 98 Question Id : 536228408 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TR AF=E | ST AT e A 8 R qEanen #1 o T 7 7
&) =l FA

(B)  WiAHERATHAT = TEa

(C) @t 31k T i s

(D) =T+ =i 357

(E)  T=1 1 st

(iR fashedt ® | TR 37 4

(1) == (A). (B) 31T (D)
(2)  =Ea (A), (C) w1 (E)
(3)  Fa (A). (B), (C) 37 (D)

4  F=4 (A). (B). (D) #T (E)
Options:
5362281589. 1
5362281590. 2
5362281591. 3
5362281592. 4

Question Number : 99 Question Id : 536228409 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Net Present Value (NPV) and Internal Rate of Return (IRR) methods yield conflicting
outcomes due to

(A)  Unconventional cash flows

(B) Investment size disparity

(C)  Investment hife disparity

(D)  Cash flow pattern disparity

Choose the most appropriate answer from the options given below :

(I)  (A) and (B) only

(2)  (A)and (C) only

(3)  (A). (B)and (C) only

(4)  (B).(C)and (D) only
Options :
5362281593. 1
5362281594. 2
5362281595. 3

5362281596. 4

Question Number : 99 Question Id : 536228409 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e adwA g7 (v 0 ) AR aehE el @ (o aR o) Tt Fefated @ 1 5w weR
A)  FURIE ThE TR
B) T SN
(C) T390 T smaE

D) T2 T U7 A

frATTRd Tl 0 @ ATt T T 9

(1) =& (A) 3 (B)
2) & (A) #(C)
(3) % (A), (B) 1 (C)

4) F= () (C) i (D)
Options :
5362281593. 1
5362281594. 2
5362281595. 3

5362281596. 4

Question Number : 100 Question Id : 536228410 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In which of the followine situations, the payback period method 1s advised for evaluation of
mvestment opportunities?

(A)  Overleveraged businesses

(B)  Cash rich businesses

(C)  Uncertain market conditions

(D)  Stable market conditions

Choose the most appropriate answer from the options given below :

(I)  (A) and (B) only
(2)  (A)and (C) only
(3)  (B)and (C) only
(4) (C)and (D) only
Options :
5362281597. 1
5362281598. 2
5362281599. 3
5362281600. 4

Question Number : 100 Question Id : 536228410 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FeTTetEn A 8 TR A 2 SR st fat e e % qearA % e T we w ge

SRS
Al & f

(A) IS FAGE A HTEA

(2) e (A) 3 (C)
(3) &= (B) A (C)
(4) ¥ (C) 3 (D)
Options :
5362281597. 1
5362281598. 2

5362281599. 3

5362281600. 4

Question Number : 101 Question Id : 536228411 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Regression Coefficient 1s independent of the change of

(A) Scale only
(B)  Origin only
(C) Both Scale and Origin

(D) Neither Scale nor Origin

Choose the most appropriate answer from the options given below :

(1) (A) only
(2) (B) only
(3) (C) only
(4) (D) only
Options :
5362281601. 1
5362281602. 2
5362281603. 3

5362281604. 4

Question Number : 101 Question Id : 536228411 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TEETEA T R | TiE § e w2
(A) el Tl

(B) a3

(C) =T 3R 3@ aF

(D) 991 =59 3T T F 3

fefefiga faeat 4 @ waifas g 5 94

(1) =9 (A)
(2) === (B)
3)  Faw (C)
4  Fa9 (D)
Options:

5362281601. 1
5362281602. 2
5362281603. 3

5362281604. 4

Question Number : 102 Question Id : 536228412 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are positional averages?

(A) Arithmetic Mean
(B) Median

(C) Mode

(D) Geometric Mean

(E) Harmonic Mean

Choose the most appropriate answer from the options given below :

(1) (B). (C) only
(2) (B). (C), (D) only
(3) (B). (C). (A) only
(4) (A). (B). (C). (D) only
Options :
5362281605. 1
5362281606. 2
5362281607. 3

5362281608. 4

Question Number : 102 Question Id : 536228412 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ffatas 9 & =+ frufas 7w 2

=y

(A)  FFFOTEE AT
(B)  =feE

(C) =mer

D) T JH

(E) BRI

(1) === (B). (C)
(2)  Fa4 (B). (C). (D)
(3) =& (B). (C). (A)

4)  FA4 (A). (B). (©). (D)
Options :
5362281605. 1
5362281606. 2
5362281607. 3
5362281608. 4

Question Number : 103 Question Id : 536228413 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of following 1= not correct about properties of correlation coefficient?

(A) Depends on the origin.

(B) Depends on the scale.

(C) Depends on both origin and scale.

(D) Isindependent with respect to origin.

(E)  Isindependent with respect to unit of scale.

Choose the correct answer from the options given below :

(1) (&). (D). (E) only
(2) (A, (B). (D) only
(3)  (&A). (B), (C) only
(4) (D). (E). (B) only
Options :
53622816009. 1
5362281610. 2
5362281611. 3

5362281612. 4

Question Number : 103 Question Id : 536228413 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TR T % A A e § § e w2
(A)  FmE T A a2

B) =IO WY R

(C) AT 3T 33 IF1 W W Faa #

(D) ™ H = E6 2

Hr f2u U faedt ® @ WA I g

(1)  F= (A). D). (E)
@  #ad (A). (B). (D)
3) a4 (A). (B). (O)
4  F=4 (D). (E). B)
Options:
53622816009. 1
5362281610. 2

5362281611. 3

5362281612. 4

Question Number : 104 Question Id : 536228414 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What type of defense mechamsm 1s used by a person when he gets angry at his child or

spouse because he had a bad day at work?

(A) Denial

(B)  Repression
(C)  Projection

(D)  Displacement

(E)  Regression

Choose the most appropriate answer from the options given below :
(1)  (A)and (B) only
(2)  (B)only
(3)  (D)only
(4)  (E)only
Options :
5362281613. 1
5362281614. 2
5362281615. 3
5362281616. 4

Question Number : 104 Question Id : 536228414 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FY W TS 1 e F 29§ I FE A AW = A9 -l W Hiad 2 2 9 97 Y T

&) FEER

B) =

(C) wEm

D) o

(E) v

ftetas fomem 3 2wt 39 o0 9

(1) 4= (A) 7 (B)

@ ()
() = (D)
@ ¥ ()
Options :

5362281613. 1
5362281614. 2
5362281615. 3
5362281616. 4

Question Number : 105 Question Id : 536228415 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Out of the following statements which of them explains the difference between enculturation
and acculturation as a part of Cross-Cultural Training?

(A)  Enculturation refer to the process of learning and adopting host cultural norms, and
acculturation 1s the process of learning our own native culture.

(B)  Enculturation 1s a anthropological term used for sociahisation hke acculturation.
(C)  Both terms refer to the process of Learning through social interaction.

(D)  Enculturation refers to the process of learning our own culture, and acculturation
refers to the process of learning host cultural norms.

Choose the most appropriate answer from the options given below :

(1) (A).(B). (C) only

(2)  (B). (D) only

(3)  (B). (C). (D) only

4) (A, (B). (C) and (D) only
Options :
5362281617. 1
5362281618. 2
5362281619. 3
5362281620. 4

Question Number : 105 Question Id : 536228415 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fArAttan Fo § T FH - FHTE TOET F UF 9 F FY § G S SR F 75
F1 = F 7 7

(A) TS F ARE R HEFA AAH FOHGH] A0 AT G91 FE A A

B)  TEHE, TG F T A U A9 w1 2 T A # o
EIGIR

(C) A WA T A WA S W § S v B
fetfeitan fahedl 8 @ Has 395 30 9 ¢

(1) = (4). ), (C)

2 F=(B). D)

(3) ¥ (B). (C). D)

(4) %= (A). (B), (C) 3 (D)
Options :
5362281617. 1
5362281618. 2
5362281619. 3

5362281620. 4

Question Number : 106 Question Id : 536228416 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following financial institution(s) got merged with their subsidiary?

(4) UTI
(B) IFCI
(C) ICICI
(D) IDBI

(E) Global Trust Bank

Choose the correct answer from the options given below :

(1) (A). (B) only
(2)  (B).(C)only
(3)  (C). (D) only
(4) (C). (E) only
Options :
5362281621. 1
5362281622. 2
5362281623. 3

5362281624. 4

Question Number : 106 Question Id : 536228416 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frfafea 8 = e () fadfm geen(an) =1 faem S5 s & @y g7

@A) I =

(B) TS UF Hi W4E
(C)  =ms =it s = I
D)  a1E <t e

(E) TeiEel 252 o

= fou U faekedt | ® @R I AT

(1) a4 (A). (B)
2 a4 (B). (C)
(3) == (0), (D)
4  =a= (0). (B)
Options :
5362281621. 1
5362281622. 2

5362281623. 3
5362281624. 4

Question Number : 107 Question Id : 536228417 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Objectives of IMPS (Immediate Payment Service) are :

(A)  To enable bank customers to use mobile instruments as a channel for accessing their
banks accounts and remit funds 24 x 7.

(B) Making payments simpler just with the mobile number of the beneficiary.

(C)  Tobuild the foundation for a full range of mobile based banking services

(D)  To create competition with NEFT and RTGS

Choose the most appropriate answer from the options given below :

(1) (@A).(®).(C)only
2 (B).(C). (D)only
(3)  (A).(B), (D)only
(4)  (B).(D)only
Options :
5362281625. 1
5362281626. 2
5362281627. 3
5362281628. 4

Question Number : 107 Question Id : 536228417 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



¢ U7 0 UH (AT T 59) F I
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(C) ezl ST ArH T % o o % i A S

(D) NEFT @ RTGS # wiaerdi =g

:ﬁ%l ]%U b L) iEI' q:"'_‘"j- I[I'[ H’Jﬁ“:ﬁﬁ 31:57_1 = E_’[hn :

(1) #= Q). ®). ()
() ¥ (B), (). D)
(3 F (A). (B). (D)
(4 ¥ (B). (D)

Options:

5362281625. 1
5362281626. 2
5362281627. 3
5362281628. 4

Question Number : 108 Question Id : 536228418 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which among the followings are correct statements with regard to NBFC 1n India?

(A)  All NBFCs should be registered with RBL
(B) NBFCs cannot accept demand deposits.

(C) NBFCs do not form part of the payment and settlement system and cannot 1ssue

cheques drawn on 1tself.

(D)  Deposit insurance facility of Deposit Insurance and Credit Guarantee Corporation is

not available to depositors of NBFCs.

Choose the correct answer from the options given below :

D (A). ®B). (C)only
(2)  (A).(B), (C). (D) only
(3) (A (B), (D)only
4 (4. (D) only
Options:
5362281629. 1
5362281630. 2
5362281631. 3
5362281632. 4

Question Number : 108 Question Id : 536228418 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(C) TR st fadta HubmEm M St 2R & % 9 76 # 3 = ARha 9 T6 9w e

=
H

D) R e o FEE F S B e A R Fee T wm e g

EIEﬁHHﬁ%I
3 oo o e # T

1) F= (4). ). (C)

(@  Fa (A). B). (C). D)
(3 F9 (A), (B). D)

(4)  FFF (A), D)
Options :

5362281629. 1
5362281630. 2

5362281631. 3

5362281632. 4

Question Number : 109 Question Id : 536228419 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about delivering customer value?

(A) A company can go alone 1n creating customer value

(B) Company must work within a broader network of partners to accomplish customer

value.

(C)  Individual companies and brands compete; their entire value delivery networks don't.

(D)  Individual companies and brands don't compete; their entire value delivery networks
do.

(E)  Value = Contribution/cost (offer higher contribution through product or service to
clients and lowers the cost)

Choose the most appropriate answer from the options given below :
(1) (A) and (E) only
(2)  (A). (B) and (E) only
(3)  (B).(C) and (E) only
(4)  (B).(D)and (E) only
Options :
5362281633. 1
5362281634. 2
5362281635. 3

5362281636. 4

Question Number : 109 Question Id : 536228419 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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() W (A) W E)

(2) F A), (B) ¥ (E)
(3) %4 (B). (C) ¥ (E)
4 ¥ (®). (D) 3 (E)
Options :
5362281633. 1
5362281634. 2
5362281635. 3
5362281636. 4

Question Number : 110 Question Id : 536228420 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Market for automobiles needs to be segmented on the basis of :

(A) Buying behaviour
(B)  Psychographics
(C) Geographics

(D)  Demographics

Choose the most appropriate answer from the options given below :

(1) (A). (D) only

(2) (C). (D) only

(3)  (A).(B), (D)only

(4) (A). (B). (C). (D)
Options :
5362281637. 1
5362281638. 2

5362281639. 3

5362281640. 4

Question Number : 110 Question Id : 536228420 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A) FF FEER
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(1)  F= (A). D)
(2) === (C). (D)
(3)  Fa9 (A), (B). (D)

(4) (&) B).(C). D)
Options:
5362281637. 1
5362281638. 2
5362281639. 3

5362281640. 4

Question Number : 111 Question Id : 536228421 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The strategies of flanking defense, preemptive defense, mobile defense. contractor defense
and counter offensive defense 1s used by which market player?

(A)  Market challenger
(B) Market leader

(C)  Market follower
(D)  Market Nicher

(E)  Start up Marketer

Chooge the most appropriate anawer from the options given below :
(I) " (A)only
(2)  (B)only
(3  (C)only
4) (B). (E)only
Options :
5362281641. 1
5362281642. 2
5362281643. 3

5362281644. 4

Question Number : 111 Question Id : 536228421 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) #aa A)
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(4 % (B). (B)
Options :
5362281641. 1
5362281642. 2
5362281643. 3

5362281644. 4

Question Number : 112 Question Id : 536228422 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Out of the following statements, which 1s not correct about the RTI Act, 20057

(A)  The RTI Act come into force from October 13. 2005.
(B)  Any citizen may request information from a Public Authority (Both Govt. and Private)
(C)  Reply for information asked can be given within 30 days.

(D)  There is a nominal application fee that are needs to pay to get information under the
RTI application.

(E)  For getting information, applicant has to pay Rs. 10/- per page of information for
Central Govt. Departments.

Choose the correct answer from the options given below :
() (A). (®B). (E) only

(2 (B). (E)only

(3)  (C). (E) only

4 (B).(C), D). (E) only

Options :

5362281645. 1
5362281646. 2
5362281647. 3

5362281648. 4

Question Number : 112 Question Id : 536228422 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ffertiaa F41 9 9 30 & A6 2005 % 91 9 F4 Te T A7

(&) oA A wfafrm 13 o, 2005 3 0 A

(B) s ¥ A PRl St T M H T AN T 7 (T A )

(€)= é ge 1 v 20 Fet 7 o Fon 1 e 2

(D)  #W A o A F e GeA WA A o (o0 A Sk YA T 0§

D) ¥z e % T & gE W A F o e A g e w F o am s g

B
EZCIREG I

() F= (A). B). B)

@  F% (B). ()

3 F@(0), ()

4)  Fa= (B). (C). D). (B)
Options:
5362281645. 1
5362281646. 2

5362281647. 3
5362281648. 4

Question Number : 113 Question Id : 536228423 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Out of the following, which are not the features of GST 2017 in India.

(A)  GST1s applicable on ‘supply’ of Goods and Services.

(B)  GST 15 based on the principle of origin based taxation rather than prnciple of
destination based consumption.

(C)  Import of Goods 1s treated as Inter-State supplies and would be subject to IGST 1n
addition to applicable Custom Duties.

(D) It 1s a dual taxation with Centre and State simultaneously levying 1t on a common
base.

(E)  GST1s applicable to all Goods and Services without any exemptions.

Choose the correct answer from the options given below :
D (A). ®). (E)only
@  (B).(C). (E)only
(3)  (B). (E)only
4) (C), (D). (E) only
Options :
5362281649. 1
5362281650. 2
5362281651. 3
5362281652. 4

Question Number : 113 Question Id : 536228423 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Famifeitd & @ i W # St 2017 i R 76 A7
(&) e e i A A W e 2 2
(B)  vEA A= AT FEH F A TG FR g ® e 2

(C) T F AT F AT THAA A A AT AT W I TEF F A AE A0 G A

D) = UF 39 2 [ %g oI T OF W SR T R HI F9 A 5

€) e o el e % ot S o e W an A A
Ftfeafiaa Tl 3 @ &) 30 4

() F (A). B), B

@ %@ (B). (0). (E)

3 F®). (B

4 #= (0), D). (E)
Options :
5362281649. 1
5362281650. 2
5362281651. 3

5362281652. 4

Question Number : 114 Question Id : 536228424 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the followings 1s correct about deduction available in respect of contribution to
various provident funds in case of salaried employees?

(A)  Employer’s contribution to recognised provident fund 1s exempted upto 12% of salary.
(B)  Employer’s contribution to unrecogmsed provident fund 1s exempted from tax.

(C)  Employer does not contribute to Public Provident Fund.

(D)  Deduction under Section 80 C 1s available for employver's contribution in unrecognized

provident fund.

Choose the correct answer from the options given below :

(1) (A). ®).(C)only
2 (A).(B). (D) only
(3)  (B).(C). D) only
4  (&).(C). D) only
Options:
5362281653. 1
5362281654. 2
5362281655. 3
5362281656. 4

Question Number : 114 Question Id : 536228424 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feferfigs 4 % FF T8 27

(A) o e s ff d f % EE WA 12% 7 W R g2 e
B) - TR wiae i F FER e -0 A

(C) T s qia FHia § AEE T

(D) T A= T Wi G & FE F e WA 80 C % dRd e 39w i 7
FreTiern fere B 9 T 9 T

() F (A). B). ©)
@ FA). B). D)
(3 F99(B). (). D)
4 ¥ A). (0. D)
Options :
5362281653. 1
5362281654. 2

5362281655. 3

5362281656. 4

Question Number : 115 Question Id : 536228425 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following expenses debited to Profit and Loss alc but disallowed while
computing income from Business?

(A)  General Expenses

(B)  Personal Expenses

(C)  Expenses of Income which 1s taxable under the other heads of income

(D)  Charities and donations

Choose the correct answer from the options given below :

1) (A). (B). (C) only
(2)  (B).(C). (D)only
(3)  (C). (D)only

(49 (A). (). (C). D)only
Options :
5362281657. 1
5362281658. 2
5362281659. 3
5362281660. 4

Question Number : 115 Question Id : 536228425 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fttEd 3 @ 79 =@ F 9905F T[T R G W f, R SEeE T A F e & #e o
A T A A

(A) ¥HHE=E

(B) =FE =

(C) 79 9@ F =4 7 9@ F 377 7 F 97 T

@) Y e &R gn

(1) #=A).®).(©)

2 ¥ (B). (C). (D)

(3) %= (C). (D)

4 F (A). (B).(C). D)

Options :

5362281657. 1
5362281658. 2
5362281659. 3

5362281660. 4

Question Number : 116 Question Id : 536228426 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match Last I with Last IT

ListI List IT

Authors of Trade Theory Name of Theory
(A) Steffan Linder (I) Product Life Cycle Theory
(B) Raymond Vernon (II) Country Similarity Theory
(C) Hecksher-Ohlin (III) Absolute Advantage Theory
(D) Adam Smith (IV) Factor Proportion Theory

Choose the correct answer from the options given below :

(1) (A)-AV). (B)-II). (C)-1I), (D)-@)
(2)  (A)-I), B)-@D). (C)-(IV), (D)-(III)
(3 A-@. (B)-AI). (C)-IV). (D)-IL)
(4  (A)-I), (B)-D). (C)-). (D)-(IV)
Options :

5362281661. 1

5362281662. 2

5362281663. 3

5362281664. 4

Question Number : 116 Question Id : 536228426 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



F=ii-1 = g=i-11 % @19 gafera it

=1 F=1-11
(A) = o= (O I H= =% fagE
(B) Wz TH (D) g =gvEeT g
(C) FFR-HAleH (1) qo7 =y fagma
(D) vsH Ry (IV) == = g

= fau o faweql 4 | w7 I g

(1) (A)-(IV). (B)-(III). (C)-(II). (D)-(I)
(2) (A)-aD), B)-(D). (C)-(IV). (D)-(III)
(3) (A)-(D). (B)-AID). (C)-AV). (D)-(II)
(4) (A)-(ID), (B)-(ID), (C)-(I). (D)-AV)

Options:

5362281661. 1

5362281662. 2

5362281663. 3

5362281664. 4

Question Number : 117 Question Id : 536228427 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT

ListI ListII
(A) Standard Costing (I)  Financial forecasting and planning
(B) Margn of Safety (I)  Sales minus break-even sales
(C) Ratio Analysis (ITII) Control of inventory
(D) JIT System (IV) Management by exception

Choose the correct answer from the options given below :

(1) A)-AV). (B)-D). (C)-(I), (D)-(I)
(2)  (A)-AID, B)-D. (C)-dI). (D)-IV)
(3) (A, (B)-(II). (C)-(I). D)-(IV)
4 A-O. B-ID). (C)-IV). D)D)

Options:

5362281665. 1

5362281666. 2

5362281667. 3

5362281668. 4

Question Number : 117 Question Id : 536228427 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T=h-1 =t g=-11 % 19 gafera Fifae|

cifl] T=1-1T
(A) TFF = FaEm (I) fam e A T=-
(B) = w1 = (ID) Toshl 92/ 1 @r9-1 &1 forshl
(C) A favem (TIT) =g e

[al

(D) Tooge Fod o1 W (2 & 7n) et (IV) 3199 3R TEeA

4 fou o fashedt 9 @ @@ = 9fw

(D) (A)-AV). (B)-(ID). (C)-1). (D)-(II)
(2)  (A)-D, (B)-1). (C)-1D. (D)-IV)
(3)  (A)-). (B)-(II). (C)-(I). (D)-(IV)
4)  A)-D. B)-dD). (C)-(IV). (D)-(I1IT)

Options :

5362281665. 1

5362281666. 2

5362281667. 3

5362281668. 4

Question Number : 118 Question Id : 536228428 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the market forms in the List I and the role of the selling costs in the List II

ListI List IT
Market Forms Role of selling costs
(A) Perfect Competition (I)  Sustained survival of firm
(B) Monopoly (II) Influencing buying behaviour
(C) Monopolistic Competition (IIT) Increasing market size
(D) Olgopoly (IV) Intimation of product or service

Choose the correct answer from the options given below :

1) A-@. B)-ID. (C)-IV). (D)-ID)
(2)  (A)-AV). (B)-(I). (O)-(I), (D)-(III)
(3) (A, (B)-AV). (C)-I). (D)D)
(4) (A0, B)-D. (C)-(IIL), (D)-(IV)

Options:

5362281669. 1

5362281670. 2

5362281671. 3

5362281672. 4

Question Number : 118 Question Id : 536228428 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=1 1 g1 Fotem i)

N 11
(A) quT wieETEt () H = Had Fsiad
(B) THITRN (D) fesra =@ &1 I
(C) AT T (Il) =T<I" AT 8 3fg
(D) ST (IV) e /3 1 =

i:.i]: .r'\jr-. iqrql- q‘- ]-:[ j:i- -'E_Fﬁ d_"-R E_{%{ :

(1) Q-D. B)-AD. (O-IV). D)1
(2)  (A)-AV). (B)-I). (CD), (D)-(IIL)
(3)  (A)-(ID). (B)-(IV). (C)-(II). (D))
(4  (A)-D). (B)-(D). (C)-(III). (D)-(IV)

Options :

5362281669. 1

5362281670. 2

5362281671.3

5362281672. 4

Question Number : 119 Question Id : 536228429 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT

ListI List IT
(A) Mezzanine Capital (I) It 15 the speedy source of finance less
regulated by the  regulatory
environment of debt and capital

markets.

(B) Private Equity (I) It 1s long term capital embraced by the
high networth and high risk appetite
nvestors.

(C) Global Depository Recelpts (ITT) It 15 an equity instrument lssued 1n

overseas markets and 1s listed and
traded on bourses on an OTC basis.

(D) Venture Capital (IV) It refers to subordinated debt or
preferred equity that allows firms to
borrow additional capital beyond the
levels lenders are willing to finance
through the bank loans.

Choose the correct answer from the options given below :

(1) (@A), B)-av). (©-1). O)-ID

2 (A)-D. (B)-(ID). (C)-(IV), (D)-I)

3)  (A)-AV). B)-{@). (C)-(IID), (D)-I)

(4)  (A)-ID), B)-ID). (C)-@). (D)-IV)
Options :

5362281673. 1
5362281674. 2
5362281675. 3

5362281676. 4

Question Number : 119 Question Id : 536228429 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 i =11 & gafed |

71 71
(A) SRl TR ) I f #1 @f| &\ 8 5 #w s g
(B) f st (1) = Samat 7o 2 e 7= 92ad a0 =E
(C) dAfvas fazm mii (1) 7z v et 2 T faeeft st 9 =t

A F AR A HET W W §EE o
T 3 - 5
(D) =M oA (IV) e a7 F=0 T wHEE o 2 A
T Al 3UT o S 3 E
foemlee T @ 9 &A1 370 oA

(1) Q-aD). B)-IV). (OI), D)-(III)
(2 (@@, (B)-1ID. (C)-AV). (D)-I)
(3)  (A)-V). (B)-{@. (C)-(ID). (D)-II)
4 Q-aI), B)-1D, (C)-@). D)-1V)

Options :

5362281673. 1
5362281674. 2
5362281675. 3

5362281676. 4

Question Number : 120 Question Id : 536228430 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
(A) Bayes Theorem (I P{E]: 1-P(E)
(B) Conditional Probability (I) P(E,wE,)=P(E,)+P(E,)

(C) Theorem of complementary events 1) P(E,/E,)= P{Ei. nE,)
P(E,)
(D) Theorem of addition @) P(H,/E)- P{I;,{ EJE )

Choose the correct answer from the options given below :

I A-D). (B)-AV). (C)-(III), (D)-(II)
(2)  (A)-I). (B)-(IV). (C)-(). D)D)
(3)  (A)-AID, (B)-(IV). (C)-(D). (D)-(IL)
(4 (A)-IV). (B)-(UD. (C)-(D. (D)-(IL)

Options :

5362281677. 1

5362281678. 2

5362281679. 3

5362281680. 4

Question Number : 120 Question Id : 536228430 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



At i FH-11 & gafea #|

-1 -1
(A) & T @ PE)=1-PE)
(B) = HHT=AAl (I) P(E,uE,)=P(E,)+P|E,)
e ) P(E,/E)=2¥10E) l?{_;f:)
=1
) e av) P(H,1E)-2Ei0E) ”;;EJE )

(1) (A-D. B)-AV). (C)-I1I). (D)-(IT)
2)  (A)-dII), (B)-@V). (C)(II). (D)-(I)
(3)  (A)-IID). (B)-(IV). (C)-(D. (D)-(IL)
(4 (A)-IOV). (B)-ID), (C)-(I). (D)-(II)

Options :

5362281677. 1

5362281678. 2

5362281679. 3

5362281680. 4

Question Number : 121 Question Id : 536228431 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T wath Last IT

List I List IT
(A) I am Not OK. yvou are Not OK (I)  Dependent
(B) I am OK. you are Not OK (I Confronting
(C) Iam OK. youare OK (III) Withdrawn
(D) Iam Not OK. you are OK (IV) Task obsessive

Choose the correct answer from the options given below :

(1) (A)-(III). (B)-(IV). (C)-(II). (D)-(I)
(2) (A)-(IID). (B)-II), (C)-AV). (D)-(D)
(3) (A)-(D). (B)-ID). (C)-(III). (D)-(IV)
(4) (A)-(I), (B)-(D. (C)-(1ID). (D)-(IV)

Options :

5362281681. 1

5362281682. 2

5362281683. 3

5362281684. 4

Question Number : 121 Question Id : 536228431 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



i1 i g=i-I1 & gaterd =i |

i1 1T
(A) TS Um ATz 3, J AR A1z AH © s
(B) TS UH 3T, J AR A1 ATE 1) zFET
(C) ¥ WA T, q F AH (D) s
(D) TS U A1z A, J AR ATE @IV)

Tt fomet § & =3t 30t 94

(1) (A)-ID), (B)-(IV). (C)-(II). (D)-(D)
(2) (A)-(IIL), (B)-(ID), (C)-(IV). (D)-(I)
(3) (A)-(D). (B)-1I). (C)-(III), (D)-(IV)
(4 (A)-(ID). (B)-(I). (C)-(IID). (D)-(IV)

Options :

5362281681. 1

5362281682. 2

5362281683. 3

5362281684. 4

Question Number : 122 Question Id : 536228432 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List II

List I List IT
Capital Structure Preposition(s) Description(s)
(A) Target Capital Structure (I)  Expected yield on the equity capital 1s

equal to the pure equity return plus a
premium for financial rsk.

(B) Optimum Capital Structure (II) It refers to the perceived costs due to
increased ratio of debt in the firm.

(C) Cost of financial distress (ITIT) It 1s the debt ratio the firm strives to
achieve.

(D) MM preposition-II (IV) It 1z the debt-equity ratio that

maximises the value of the firm.

Choose the correct answer from the options given below :

(1
(2
(3
(4

) (A1), (B)-), (G-, (D)-IV)
) (A (III) (B)-(IV). (C)-(II). (D)-T)
) (A)-IV). (B)-I). (O-III). -
) (A)-(D). (B)-II), (C)-I), (D)-(IV)

Options :

5362281685. 1
5362281686. 2
5362281687. 3

5362281688. 4

Question Number : 122 Question Id : 536228432 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



- 1 g1 ° gafer i)

il LI
TS HE 7 o
(A) e g wE @) s T T TG o, e e
(B) sl 3 H @) 2 ¥4 5 9 % 9¢ FIE F B0 A
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(C) farira = i & (M) T2 %4 SHTE 2, 3 TH FE T 2
(D) g - 11 (IV) 7% F-32) 3974 ¢ a % % qod
ATeFan FAl 7|

TR et @ 1 WA e A

(1) @-ID), B)-II), (C)-D. (D)-(IV)

(2) (A, B)-IV). (C)-(D), D)D)

(3)  (A-IV). (B)-D. (C)-I). D)-@

(4  (A)-@. B)-010). (C)-D. (D)-IV)
Options:

5362281685. 1
5362281686. 2
5362281687. 3

5362281688. 4

Question Number : 123 Question Id : 536228433 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List [ wath List IT

ListI Last I
(Authors) (Ideas)
(A) Bill Bishop (I)  Managing in the Market Space
(B) D.Bird (I) Commonsense Direct Marketing
(C) Daniel 8. Jonal (IIT) Strategic Marketing for the Digital
Age
(D) dJeffery F. Rayport (IV) On-line Marketing

Choose the correct answer from the options given below :

(1) A)-ID, (B)-1D. (C)-@V), D)D)
(2)  A-@. B)-1D). (C)-(III). (D)-(IV)
3)  A-D. B)-1). (C)-(IV), (D))
4 (A)-IV). (B)-III), (C)-(IT), (D)-(T)
Options:

5362281689. 1

5362281690. 2

5362281691. 3

5362281692. 4

Question Number : 123 Question Id : 536228433 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



it I 1 o111 % @19 Fferd it

=1 I
(A) ot T ) = T TEeH
B) . AL) == g T faom
() e mE. I (IT) fsfseer 71 = foqo e fifeed fawom
(D) 5 TF. TR AV) #H-e Fe

fr 1 ™ e § @ W I g

(1)  (A-dID), (B)-). (C)-IV). (D)-(D)
(20 @-@. B)-aD). (C)-III). (D)-IV)
(3)  (A)-ID. B)-3). (C)-IV), (D)-(I1I)
(4)  (A-IV). (B)-ID). (C)-D), (D)D)

Options :

5362281689. 1

5362281690. 2

5362281691. 3

5362281692. 4

Question Number : 124 Question Id : 536228434 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT

List I List IT

(A) Limited Liability Partnership (I) It can be formed with a mimimum of
two Individuals or body corporate
through their nominees.

(B) Particular Partnership (ID) It 1s formed for a specific venture or for
a particular period.

(C) Partnership (IIT) It 1s an assoclation of two or more
individuals.

(D) Mutual Agency (IV) A partner i1s both an agent and a

principal in a partnership firm.

Choose the correct answer from the options given below :

0 A-D. (B)-ID. (O-(II). D)-IV)
(2)  (A)-aD. B)-I), (C)-@. (D)-IV)
(3) (A, B)-ID). (C)-(D). D)-IV)
4 A-IV). (B)-1). (C)-O. O)-I1I)

Options :

5362281693. 1
5362281694. 2
5362281695. 3

5362281696. 4

Question Number : 124 Question Id : 536228434 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 F=H1-11 F =19 Fafem i
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(A) i 2 e 0) T = 2 = wwE frfe e
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(B) fafre wrEe @M 7 o il s o sty B
form = 21
(C) () =% 3 7 & § s =341 1 79 2|
(D) wEm wfimm (V) mmen fft et = 5 afewat 29 %

TT-T1g 7AW o 7 2
et fau o faepet 4 1w T gfw

(D) A-D. B)-ID). (C)-I). D)-IV)
(2)  (A)-). B)-I1I). (C)-@. (D)-(IV)
(3)  (A)-I), (B)-D). (C)-(III), (D)-(IV)
4 (A)-IV). B)-I), (O-O). (D)-I1D)

Options :

5362281693. 1
5362281694. 2
5362281695. 3

5362281696. 4

Question Number : 125 Question Id : 536228435 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List T with List IT

ListI List IT

(A) 80GG (I)  Deduction in respect of contribution
even by companies to political parties.

(B) 80 GGA (I) Deduction in respect of contrbution
given by any person to political
partles.

(C) 80GGB (ITT) Deduction mn respect of scientific
research.

(D) 80GGC (IV) Deduction In respect of rent paid.

Choose the correct answer from the options given below :

1) @A)-AV). (B)-D. (C)-[@. (D)-(II)
2) @D, B)-1V). (O)-). M-D
(3)  (@A)-AV). (B)-D. (O)-). D)-I)
4 @-IV). B)-dD). (C-1). M)-1II)
Options :

5362281697. 1

5362281698. 2

5362281699. 3

5362281700. 4

Question Number : 125 Question Id : 536228435 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TEA-1 1 711 3 el |

i 11
(A) 80GG () U g TSAiE g # fen TR g
TEtE Frl
(B) 80GGA (I) Tl =i grT TG 2o 1 130 e w0
T gafad Fdl
(C) 80GGB (IT) 35 g & wetem F201
(D) 80GGC (IV) M 0 T R & e e

T el @ @ w1 30 4

) (A-V). (B)-dID). (C)-(0). (D)-(ID)

(2)  (A-ID), B)-AV). (C)-(I). M)-(I)
) (A-IV). B)-III). (O)-(I). D)-(I)
) (A-AV). (B)-0D), (C)-(I). (D)-(I)

Options :

5362281697. 1

5362281698. 2

5362281699. 3

5362281700. 4

Question Number : 126 Question Id : 536228436 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following legal enactments in India in the chronological sequence from the first to
the last.

(A)  The Mines Act

(B)  The Minimum Wages Act

(C)  The Payment of Gratuity Act

(D)  The Chld Labour (Prohihition and Regulation) Act

(E)  The Apprentices Act

Choose the correct answer from the options given below :

1) (B). (D). Q). A E)
) (B). A, E). Q). D
(3) (A (E). ®). (). D)
4 (E).(B).@A.(@©). D)
Options :
5362281701. 1
5362281702. 2
5362281703. 3

5362281704. 4

Question Number : 126 Question Id : 536228436 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



feTieRa e T = FIeRAEE (T9E § 379 St i

(A) @A ATaE

(B) AR FEgl AT

(C)  T=3t HeE wfafm

(D) == g9 (wfawy AR fafem) afafs
(E)  wforeg safaim

= fou o faedt ® @ wE I 9A

(1) (B). (D). (C). (A). (E)
(2) (B). (A), (E), (C), (D)
(3) (&) (E), (B). (C). (D)
(4) (E). (B). (A). (C), (D)

Options:

5362281701. 1

5362281702. 2

5362281703. 3

5362281704. 4

Question Number : 127 Question Id : 536228437 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange 1n the sequence of decisions In manufacturing enterprises :

(A) Making of forecasts

(B) Determination of key factors

(C) Consideration of alternative combination of forecasts
(D) Preparation of budgets

(E) Combination of factors

Choose the correct answer from the options given below :

1 @A), B). (C). (E). (D)
2) (0. A). (E). B). (D)
(3) (B). (A). (C). (E). (D)
(4) (A). (C). (B). (E). (D)
Options :
5362281705. 1
5362281706. 2
5362281707.3

5362281708. 4

Question Number : 127 Question Id : 536228437 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1)  A). @), (C). (E). (D)
2  (C). (A), (E). B). D)
(3)  (B). (A), (C). (E). (D)
(4 (A (C), (B). (E). D)

Options :

5362281705. 1

5362281706. 2

5362281707. 3

5362281708. 4

Question Number : 128 Question Id : 536228438 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following products 1n the increasing order of price elasticities

(A) Homogeneous products
(B) Differentiated products
() Necessities

(D) Durable goods

Choose the correct answer from the options given below :

(1) (C). (B). (D) and (A)
(2) (A). (B), (C) and (D)
(3) (A), (C), (B) and (D)
(4) (C). (A). (B) and (D)
Options :

53622817009. 1

5362281710. 2
5362281711. 3
5362281712.4

Question Number : 128 Question Id : 536228438 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1 (C). (B). D)3 (A)
2 (4. (®).(C) 3 D)
(3) (A). (C). (B) 311 (D)
@ (C).(A). B) 3 D)

Options :

5362281709. 1
5362281710. 2
5362281711. 3
5362281712.4

Question Number : 129 Question Id : 536228439 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following financing choices 1n order of preference suggested by the pecking order

theory
(A)  Reinvestment of earnings
(B)  New 1ssue of equity

(C)  Issueof debt

Choose the correct answer from the options given below :
D @.®.0©
@ (A).©0.®
3  (B).(C). A

4 (B).A), O
Options :
5362281713. 1
5362281714. 2
5362281715. 3

5362281716. 4

Question Number : 129 Question Id : 536228439 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1) @.®, )
(2) (A). (C), (B)
(3)  (B).(0).A)

4  (B). @A), ©)
Options :
5362281713. 1
5362281714. 2
5362281715. 3

5362281716. 4

Question Number : 130 Question Id : 536228440 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following stages of research 1n a proper sequence

(A) Report Writing
(B) Budgeting

() Data Collection
(D)  Field Work

(E) Research outcomes

Choose the correct answer from the options given below :

(L) (B D). (©O). (E). (&)
(2) (D). (A). (B). (C). (E)
(3) (D). (C). (B). (E). (A)
(4) (B). (E), (D). (C). (A)
Options :

5362281717.1

5362281718. 2

5362281719. 3

5362281720. 4

Question Number : 130 Question Id : 536228440 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (B). (D), (C). (E). (A)
2 (D). @A) B). (C). (E)
(3) (D). (C), (B). (E). (A)
4 (B). (E). (D). (C). (A)

Options :

5362281717.1

5362281718. 2

5362281719. 3

5362281720. 4

Question Number : 131 Question Id : 536228441 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of creating a market-competitive pay plan in a sequence from the
first to the last

(A)  Choose benchmark jobs and select compensable factors

(B)  Define each compensable factor and determine 1ts degree in each job

(C)  Establish rate changes

(D)  Develop pay grades

(E)  Compare and adjust current and market wage rates for jobs

Choose the correct answer from the options given below :

1) (B). (A E).D)OC
@  A).().(®).D).E)
(3)  (A).(B).(E). D) O
4 (&) ®).(C).(E). D)
Options :
5362281721. 1
5362281722.2
5362281723.3
5362281724. 4

Question Number : 131 Question Id : 536228441 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U SN Jq9 AT TR F F Feilhd o w w8 A T w9 ¥ geatead w

(A) ST T F T A T B B

(B)  TTHF TIAUld T FIF FT TRANIG FAT S TAF FH T GHR
(C) T uftad T Fad F

D) dF T58 A

femteRa foett § | W8 3 A

1) (B (A, E). D), (C)
(2)  (A).(C), B). D). (E)
3 (A (B). (E). D), (C)
4)  (A).®B). (). (E). D)
Options:
5362281721. 1
5362281722. 2
5362281723.3

5362281724. 4

Question Number : 132 Question Id : 536228442 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following 1nitiatives taken by the Governmennt of India to tackle the Non
performing assets in their ascending order of chronology :

(A)  Corporate Debt Restructuring

(B)  Compromise Settlement

(C)  The Debt Recovery Tribunals (DRTs)

(D)  Credit Information Bureau

(E)  SARFAESI Act

Choose the correct answer from the options given below :

1) (©).D). A ®B).E)
2  @.®).E.(©).D
3)  (C). (D). ®B).(E). (&)
4 D). Q). ®).(E). &)
Options:
5362281725. 1
5362281726. 2
5362281727.3

5362281728. 4

Question Number : 132 Question Id : 536228442 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (). D). A (B). (E)
2 (A).(®).(E).C).D
3) (0. D). B).(E). &)
4 (D). (). ®B).(E). @A)
Options:
5362281725. 1
5362281726. 2
5362281727.3

5362281728. 4

Question Number : 133 Question Id : 536228443 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following steps of marketing process In proper sequence

(A)  Construct an integrated marketing programme that delivers superior value
(B)  Capture value from customers to create profits and customer equity

(C)  Understand the market place and customer needs and wants

(D)  Engage customers, build profitable relationships. and create customer delight

(E)  Design a customer value-driven marketing strategy

Choose the correct answer from the options given below :

1) (C). A). E). D). (B)
(2)  (B). (E). (A). (C). (D)
(3 (D). A).®). Q). (E)
4 (C).(E). (A). D). (B)
Options:
5362281729. 1
5362281730. 2
5362281731.3

5362281732. 4

Question Number : 133 Question Id : 536228443 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1 (O). (A). (E). D), (B)
2 (B).(E). &). (©). D)
(3) (D). A). B). (C). (E)
4 (O).(E). &). D). (B)
Options:
5362281729. 1
5362281730. 2
5362281731.3

5362281732. 4

Question Number : 134 Question Id : 536228444 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one 1s the correct sequence 1impled 1in the Indian Contract Act 18727

(A) Offer of proposal
(B)  Contract

(C) Promise

(D) Agreement

(E) Acceptance

Choose the correct answer from the options given below :

(1) (C). (E), A). D), (B)
2) (D). B). (C). (A). (E)
(3)  (B). (D). (C). (E). (A)
4 (@A (E) ©). D), B
Options :
5362281733. 1
5362281734.2
5362281735. 3
5362281736. 4

Question Number : 134 Question Id : 536228444 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(A) wEE

B) Tl
(C) EIRE
(D)  =HE

fertora fasegt & & @8 3 =4

(1) (C). (E). (A). (D), (B)
(2) (D). (B), (C). (A). (E)
(3) (B). (D). (C). (E). (&)
(4) (A). (E), (C), (D), (B)
Options :
5362281733. 1
5362281734.2
5362281735. 3

5362281736. 4

Question Number : 135 Question Id : 536228445 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Arrange the following procedure of Income Tax return e-Filling in India

(A) Login

(B) Register

(C) Verification

(D) Downloading utility and preparing return

(E)  e-fiing Income Tax Return

Choose the correct answer from the options given below :

(1)  (A).(B). (C). (D). (E)
(2) (A). (C), (B). (E). (D)
(3) (B). (A). (E). (D). (C)
(4) (B). (A). (D). (E). (C)

Options :

5362281737. 1

5362281738. 2

5362281739. 3
5362281740. 4

Question Number : 135 Question Id : 536228445 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) (A). (B). (C). (D). (E)
(2) (A (C), (B). (E). (D)
(3) (B). (A). (E). (D). (C)
4 (B). (A). D). E. (C)

Options :

5362281737. 1
5362281738. 2
5362281739. 3

5362281740. 4

Question Number : 136 Question Id : 536228446 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements.

Statement (I):  Monetary policy causes a deliberate change in government revenue and
expenditure with a view to influencing the price level and the quantum of

national output.

Statement (II) :  Fiscal Policy regulates the money supply and the cost and availabihty of
credit.

In the light of the above statements, choose the most appropriate answer from the options

e1ven below :

(1) Both Statement (I) and Statement (II) are correct
(2) Both Statement (I) and Statement (II) are incorrect
(3)  Statement (I) 1s correct but Statement (II) 1s incorrect
(4)  Statement (T) 1s incorrect but Statement (II) 1s correct
Options :
5362281741. 1
5362281742. 2
5362281743. 3

5362281744. 4

Question Number : 136 Question Id : 536228446 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362281741. 1
5362281742.2
5362281743. 3

5362281744. 4

Question Number : 137 Question Id : 536228447 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reazon (R).

Assertion (A):  Firms opt for buying an asset if the equivalent annual cost of ownership

and operation 1s less than the best lease rate 1t can get.

Reaszon (R) : Operating leases are attractive to equipment users if the lease payment 1s

less than the user’s equivalent annual cost of buying the equipment.

In the light of the above statements, choose the most appropriate answer from the options

even below :

(I)  Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3)  (A)1s correct but (R) 1s not correct
(4)  (A)1s not correct but (R) 1s correct
Options :
5362281745. 1
5362281746. 2
5362281747.3

5362281748. 4

Question Number : 137 Question Id : 536228447 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

5362281745. 1

5362281746. 2

5362281747.3

5362281748. 4

Question Number : 138 Question Id : 536228448 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(ven below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R).

Assertion (A):  According to Herzberg, preventing or reducing dissatisfaction at work is

not the same as providing satisfaction.

Reason (R) : Under the ‘two factor theory’, job satisfaction and dissatisfaction are the

two different aspects of work motivation.
In the hight of the above statements. choose the correct answer from the options given below :

(I)  Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2)  Both (A) and (R) are true but (R) 1s NOT the correct explanation of (4)
(3)  (A)1s true but (R) 1s false

(4)  (A)1s false but (R) 1s true

Options :

5362281749. 1
5362281750. 2
5362281751. 3

5362281752. 4

Question Number : 138 Question Id : 536228448 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
5362281749. 1
5362281750. 2
5362281751. 3

5362281752. 4

Question Number : 139 Question Id : 536228449 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R).

Assertion (A): Trade mark registration gives exclusive proprietary mghts fo the

trademark owner.

Reason (R) : A trademark 1s a recognizable sign. design or expression which identifies
products or services of a particular source from those of others, and are

used to claim exelusive proprietary rights of products or services.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3)  (A)1s true but (R) 1s false
(4)  (A)1s false but (R) 1s true
Options:
5362281753. 1
5362281754. 2
5362281755. 3

5362281756. 4

Question Number : 139 Question Id : 536228449 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

5362281753. 1

5362281754. 2

5362281755. 3

5362281756. 4

Question Number : 140 Question Id : 536228450 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements.

Statement (I):  Gratwity received by Government employee 1s exempted from tax under

Section 10(10)(1) of the Indian Income Tax Act, 1961.

Statement (II):  Gratwity received by local authority employee 1s exempted from tax.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3)  Statement (I) 1s correct but Statement (II) 1s false
(4)  Statement (I) 1s incorrect but Statement (II) 1s true
Options :
5362281757. 1
5362281758. 2

5362281759. 3

5362281760. 4

Question Number : 140 Question Id : 536228450 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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5362281757. 1

5362281758. 2

5362281759. 3

5362281760. 4

Sub-Section Number : 2
Sub-Section Id : 53622817
Question Shuffling Allowed : Yes

Question Id : 536228451 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension



Answer Question No. 91 to 95 on the basis of the following passage :

Burnout 1s a psychological syndrome emerging as a prolonged response to chronic
Interpersonal stressors on the job. The three key dimensions of this response are an
overwhelming exhaustion, feelings of cynicism and detachment from the job, and a sense of
ineffectiveness and lack of accomplishment. The significance of this three-dimensional model
1s that it clearly places the individual stress experience within a social context and involves

the person’s conception of both self and others.

The exhaustion dimension was also described as wearing out, loss of energy, depletion,
debilitation, and fatigue. The cymicism dimension was originally called depersonalization
(given the nature of human services occupations), but was also described as negative or
Inappropriate attitudes towards clients, irritability, loss of idealism, and withdrawal. The
Inefficacy dimension was originally called reduced personal accomplishment, and was also

described as reduced productivity or capability, low morale, and an inability to cope.

There have been varlous conceptual models about the development of burnout and its
subsequent impact. At first, the focus was on the relationship between the three dimensions
of burnout, which was often described in sequential stages. Exhaustion was assumed to
develop first. in response to high demands and overload, and then this would precipitate
detachment and negative reactions to people and the job (depersonalization or cynicism). If
this continued, then the next stage would be feelings of inadequacy and failure (reduced

personal accomplishment or professional inefficacy).

More recently. burnout models have been based on theories about job stress, and the notion
of imbalances leading to strain. Its three stages are : (a) Job stressors, (b) individual strain,
and (c) defensive coping. Subsequently, two developmental models of the demands-resources
imbalance have emerged : the Job Demands-Resources (JD-R) model and the conservation of
Resources (COR) model. The JD-R model focuses on the notlon that burnout arises when
individuals experience incessant job demands and have inadequate resources available to
address and to reduce those demands. The COR model follows a basic motivational theory
assuming that burnout arises as a result of persistent threats to available resources.
A different variation of an imbalance model of burnout 1s the Areas of Worklife (AW) model,
which frames job stressors in terms of person-job imbalances, or mismatches, but identifies
six key areas in which these imbalances take place : workload, control, reward. community.
fairness and values. Mismatches in these areas affect an individual's level of experienced
burnout, which in turn determines varlous outcomes, such as job performance. social

behaviors, and personal wellbeing.

Sub questions

Question Number : 141 Question Id : 536228452 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following has the correct sequence of the stages of burnout?

(1) Fatigue due to excessive work, dislike for work, failure to achieve targets
(2) Negative feelings about work, dislike for work, effort to quit work

(3) Initial good interpersonal relations, depersonalization, loss of idealism
(4) Cynicism, inadequacy. inefficiency

Options :

5362281761. 1
5362281762. 2
5362281763. 3

5362281764. 4

Question Number : 142 Question Id : 536228453 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements.

Statement (I):  Cymicism stage of Burnout 1s often experienced by employees, engaged in
production activity, due to excessive work pressure.

Statement (I) : In Cymicism stage of burnout, person withdraws from others and shows
lack of interest towards them.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3)  Statement (I) 1s correct but Statement (II) 1s false
(4)  Statement (I) 1s Incorrect but Statement (II) 1s true
Options :

5362281765. 1

5362281766. 2

5362281767.3

5362281768. 4

Question Number : 143 Question Id : 536228454 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I wath List IT

Liat I List IT
(A) Exhaustion (I} Not able to complete work
(B) Cynicism (IT) No energy for work
(C) Inefficiency (III) No interest in customer

Choose the correct answer from the options given below :

1) @-@. B)-1D. (C)-(II)
(2) (A)-(IID), (B)-(II). (C)-(I)
(3)  (A)-aD, (B)-(II), (C)-I)
(4 A-aD. (B)-D. (C)-(III)

Options :

5362281769. 1
5362281770. 2
5362281771.3

5362281772. 4

Question Number : 144 Question Id : 536228455 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following 1s not a resource-imbalance model of Burnout?

(1) Job Demands-Resources Model (2) Conservation of Resources Model
(3) Three Dimensional Model (4) Areas of Worklife Model
Options :

5362281773. 1
5362281774. 2
5362281775.3

5362281776. 4

Question Number : 145 Question Id : 536228456 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Which of the following are caused by Burnout?

(A) Concern for clients
(B) Negative Social Behaviour
(C)  Physical and Mental Strain

Choose the most appropriate answer from the options given below :

(1) (A) only
(2) (A) and (B) only
(3) (B) and (C) only
(4) (A) and (C) only
Options :
5362281777.1
5362281778. 2
5362281779. 3

5362281780. 4

Question Id : 536228451 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension
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e, foreran, 3R gea| T e A fEEiaat = T W ST s § T # 09iEd w8, =
afoTHE: FE oI, ST SRR SR s agedl S At et w Futfa w2

Sub questions

Question Number : 141 Question Id : 536228452 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fitea @ & o sHaTT=e & =0T 1 HAl ST 2 7

(1) At =+ = wEo 9H, F4 F 0 e, |53 F1 9 FH 9 T8 Fd|

(2) FHE & g1 0 THAHE H-lerI;i, FH F To0 :|T':|1:rr"[: Eao| 7&'@"—[ = TITH |

(3)  HNTF dEt AT Ta, T-=qfF, SE9EnE = 21|
(4} EANIE " 3 ilr T . 3 -:_,I;“" Tl |

Options :

5362281761. 1
5362281762. 2
5362281763. 3
5362281764. 4

Question Number : 142 Question Id : 536228453 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I 7 FoF fu M A
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Options :
5362281765. 1
5362281766. 2
5362281767. 3

5362281768. 4

Question Number : 143 Question Id : 536228454 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F-1 F1 F=1-11 & gHfaa 1

=1 =11
(A) fentd (@) M 991 FH ° wEw T
(B) FFmTEFAl D) FM % fou w1 7
(C)  wrpwrer (II)) 7= | 75 & i

FeTTRa ool § | T 37 A

() (A-@. (B)-{I). (C)-(I1I)
(2)  (A-IID). (B)-dD. (C)-I)
(3)  (A)-dD), (B)-IID), (C)-(I)
(49 A)-dD. B)-D. (C)-(1)

Options:

5362281769. 1
5362281770. 2
5362281771.3

5362281772.4

Question Number : 144 Question Id : 536228455 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fAefeatiaa | ® a1 SHATSE B HEEE - g TaET 6 7

(1) =, Am-TEe T (2) TETEA F FEAW AiaE
(3) T s ofaEy (4) TREATS HATE FTHATF TGET
Options :

5362281773. 1

5362281774. 2



5362281775. 3

5362281776. 4

Question Number : 145 Question Id : 536228456 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(C) it 3t aefas T34
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Options :

5362281777. 1
5362281778. 2
5362281779. 3

5362281780. 4

Sub-Section Number : 3
Sub-Section Id : 53622818
Question Shuffling Allowed : Yes

Question Id : 536228457 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension



Answer Question No. 96 to 100 on the basis of the following passage :

It 1s desirable for consumers to be aware of their rights. and to exercise those rights
responsibly and intelligently. In these days of audio-video publicity on the public and private
media, 1t 1s indeed very difficult. if not impossible, to verify the exaggerated or false claims
made by producers. manufacturers, distmbutors and dealers of various goods and services.
The all-pervasive, exaggerated and often false claims, made for services and goods,
emphasize the imperative need for Consumer Protection Legislation and creation of

awareness about 1t among the general public.

In this connection, there are a number of enactments. in India such as the prevention of Food
Adulteration Act, 1954, the Essential Commodities Act, 1955, the Hire Purchases Act, 1972,
the Standards Weight and Measure Act, 1976 etc. However, the remedies prescribed there
under are time-consuming, inadequate and expensive. As in other areas of Judicial
Processes. the offenders are hardly caught. proceeded against and rarely, if ever. got

convicted. When violators go scot-free, the victims have no remedy and gets frustated.

Sub questions

Question Number : 146 Question Id : 536228458 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s a correct statement based on the passage?

(1) Consumers’ laws are not explained well in India
(2)  Indian Judiciary System needs a drastic reform to facilitate consumers’ welfare
(3) Indian manufacturers are clever
(4)  The Indian Consumers have no remedy and get frustated
Options :
5362281781. 1
5362281782. 2
5362281783. 3

5362281784. 4

Question Number : 147 Question Id : 536228459 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s a correct statement based on the passage?

(1)  Consumers in India are aware of their rights
(2)  Consumers in India exercise their richts responsibly
(3)  Consumers in India are unaware of their mghts and hence, they do not exercise them

(4)  None of the above could be ascertained on the basis of paragraph given here above

Options :

5362281785. 1
5362281786. 2
5362281787. 3

5362281788. 4

Question Number : 148 Question Id : 536228460 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s a correct statement based on the passage?

(1)  The Government of India has enacted sufficient number of laws for protection of
consumer Interests

(2)  The paragraph does not give comprehensive list of laws 1n favour of consumers
(3)  Legal environment for consumers in India is not conducive

(4)  Legal environment for consumers in India 1s conducive
Options :

5362281789. 1

5362281790. 2

5362281791. 3

5362281792. 4

Question Number : 149 Question Id : 536228461 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the followings could be considered at the center point in the passage?

(1) Consumers (2) Judicial Process
(3) Manufacturers (4) Government
Options :

5362281793. 1
5362281794. 2
5362281795. 3
5362281796. 4

Question Number : 150 Question Id : 536228462 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which among the following 1s a correct statement based on the passage?

(1) Producers and manufacturers are sensitive about consumers’ rights.
(2) Producers and manufacturers are insensitive about consumers’ rights.
(3) Producers and manufacturers are neutral about consumers’ rights.

(4) Producers and manufacturers are basically governed by ethics and values.
Options :
5362281797. 1
5362281798. 2
5362281799. 3

5362281800. 4

Question Id : 536228457 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 536228458 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T % En W el 9 9 S weE gh R e

(2) I Rl T T F O WRAE-= T § e G i SmeavE #
3) e fafmiar =9 2

(@) ST TS T A T A 2 s e A

Options :

5362281781. 1

5362281782. 2

5362281783. 3

5362281784. 4

Question Number : 147 Question Id : 536228459 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEYl % ATUE W (efeiiad § O FH o7 w99 Ta 27

(1)  9FA = IT9RHT A9 AEHA % I S 7

(Q) WG F ITHRH A AN F AN TR EE A

(3)  9WA T ITHH A AGEHA F U AR A5 7 AN G0 F T T A A R

(4)  fou T T & AaR W IHEE 9 @ FE ot Rt T e

Options:

5362281785. 1
5362281786. 2
5362281787.3

5362281788. 4

Question Number : 148 Question Id : 536228460 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
e % e W Aefafad @ @ FE  #eE wd 2

(1) 399 f2al T % 70, 9°d TOR 5 T T § A a9

(2) T H IUSTE TRl | Etad HA S faegd g A6 Al e E
(3) g H SUNIEIAT & o0 et AR 39FE 6l 8
(4)  WWA o IS = fou #H AEe SR B

Options :

5362281789. 1

5362281790. 2

5362281791.3

5362281792. 4

Question Number : 149 Question Id : 536228461 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

famfafaa d o for e =1 S g wmr = awar 27

() ST (2) =i i
(3)  fafmmr (4) TR

Options :

5362281793. 1
5362281794. 2
5362281795. 3

536228179%6. 4

Question Number : 150 Question Id : 536228462 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) IeqE A EAFEEE SUSERT SA9F % Uid SdeaeiE B

(2) SeqTe SR TataTaT Sy SRl % Ul SEaeie 5
(3)  IOEH AR Al ST AfTEE A e

Options :

5362281797.1

5362281798. 2

5362281799. 3

5362281800. 4



